#### Pay Estimate Created Date: July 1, 2021

Progress Estimate 4	Number	Contract ID Prime Contra	210219-0 ctor Ideker, In		eriod Start eriod End	June 16, 202 <sup>-</sup> June 30, 202 <sup>-</sup>	1 Net	jinal Contract Amount Change Order Amount rent Contract Amount	\$4,357,163.79 (\$0.02) \$4,357,163.77
Approval Date									By User
July 2, 2021			Generated and	Approved	(and should	the Project Office Level by	karlic1		
July 2, 2021		R	eviewed and App	roved (and	should be co	onsidered Draft)	at the F	Resident Engineer Level by	karlic1
July 6, 2021			Reviewed	and Approve	ed at the Centra	al Office	Controllers Office Level by	ramses1	
Original Completion	n Date	Current Con	npletion Date	Date Actual Completion Date % of Current Contract			of Current Contract Amou	int Complete	
December 1, 20	21	Decembe	er 1, 2021					41.50%	
	Contract I	nformational Dat	tes			Milestones			
Date Description	Original C	Completion Date	Current Comp	etion Date	No Milesto	ones Exist for C	ontract		
Acceptance Date									
Awarded Date	March 3, 2	2021	March 3, 2021						
etting Date February 19, 2021 February 19, 2021				21					
Notice to Proceed Date	otice to Proceed Date May 3, 2021 May 3, 2021								
Work Began Date	<b>5</b> - <b>7</b> -								

Contract Total Pa	ay For Estimate No. 4			
		This Estimate	Previous	To Date
210219-C04				
	Total Posted Items Pay	\$280,849.13	\$1,527,173.52	\$1,808,022.65
	Gross Item Adjustments	(\$7,752.83)	\$74,740.30	\$66,987.47
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$1,601,913.82	\$1,875,010.12
Contract Total Pa	ayable This Estimate:	\$273,096.30		

### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J4P3275	0040	2035500	EMBANKMENT IN PLACE	CUYD	\$20.000	1,820	\$36,400.00
	0070	2071000	LINEAR GRADING CLASS 1	STA	\$550.000	33.9	\$18,645.00
	0120	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$10.500	4,636.9	\$48,687.45
	0160	4019905	MISC.OPTIONAL TEMPORARY PAVEMENT	SQYD	\$28.490	4,419.2	\$125,903.01
	0330	6122030	IMPACT ATTENUATOR (RELOCATION)	EA	\$400.000	3	\$1,200.00
	0430	6175011B	RELOCATING TEMPORARY TRAFFIC BARRIER ANCHORED	LF	\$13.000	2,792	\$36,296.00
	0440	6175020A	RELOCATING TEMPORARY TRAFFIC BARRIER HEIGHT TRANSITION	EA	\$400.000	2	\$800.0
	0640	8061005	ROCK DITCH CHECK	LF	\$40.000	100	\$4,000.0
	0670	8061017	TEMPORARY SEEDING AND MULCHING	ACRE	\$1,605.000	3	\$4,815.0
	0680	8061019	SILT FENCE	LF	\$3.000	1,332	\$3,996.0
Project J4P	3275 - Total						\$280,742.4
J4S3278	1120	3101002	GRAVEL (A)	TONS	\$87.920	-0.32	(\$28.13
	1340	8051000A	SEEDING - COOL SEASON MIXTURES	ACRE	\$5,940.000	0.023	\$136.6
	1400	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$59.610	-0.04	(\$2.3
	1410	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	TONS	\$56.210	0.01	\$0.5
Project J4S	3278 - Total						\$106.6
Overall - To	tal						\$280,849.13

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract



Number         No.         Clustering         Type         Adjustment Type         Clustering         Adjustment Adjustment Type         Clustering         Adjustment Adjustment Adjustment Adjustment Adjustment Type         Clustering         Adjustment Adjustment Adjustment Adjustment Adjustment Adjustment Type         Clustering         Adjustment Adjustment Adjustment Adjustment Adjustment Type         Clustering Adjustment A	Prog	gress E		Contract Prime Co		210219-C04 Ideker, Inc.	Pay Period StartJune 16, 2021Pay Period EndJune 30, 2021	Net Chan	Contract Amo ge Order Am Contract Amo	iount (\$0	,357,163.79 ).02) ,357,163.77
Nimber         No.         Cuartering         Type         Adjustment Type         Cuartering         Adjustment Adjustment Type         Cuartering         Adjustment Adjustment Adjustment Adjustment Adjustment Adjustment Adjustment Adjustment Adjustment Pype applied is FUEL         1.410         SS.18         SS.246.7           040         EMBANKMENT IN PLACE         Price         Price         Reference tem Price Adjustment Adjustment Adjustment Type applied is FUEL         240         55.18         552.00         553.18         552.00         553.18         552.00         553.18         552.00         553.16         552.00         553.16.20.00         55	ine Item	Adjust	ments This Estimate								
Image: Constraint of the	Project Number		Item Descriptio	n	,	Adjustment	Comments			Adjustment	Adjustment amount
Image: Constraint of the image is present of the image	J4P3275	0040	EMBANKMENT IN	I PLACE	Price				1,410	\$0.18	\$246.75
Image: Construction of the current Type applied in FUEL         Construction of the current Payment Estimate Ison of the curren		0040	EMBANKMENT IN	I PLACE	Price				240	\$0.18	\$42.00
0040EMBANKMENT IN PLACEMaterialThis adjustment offsets the original system Adjustment (004) due to user school overdiding Payment Estimate Estimate Estimate Estimate Response of the current Payment Estimate15.801\$20.00\$316,020.00070LINEAR GRADING GLASS 1Overun		0040	EMBANKMENT IN	I PLACE	Price				170	\$0.18	\$29.75
Image: Section of the section of the current Payment Estimate Exception 1 or end overridding Payment Estimate Exception 2 or end overridding Payment Estimate Exception 4 or everridding Payment Estimate Exception 4 or everriddi		0040	EMBANKMENT IN	I PLACE	Material				-15,801	\$20.00	(\$316,020.00
0120TYPE 5 AGGREGATE FOR BASE (4 IN, THICK)PriceReference Item Price Adjustment Type applied is FUEL4.636.9\$0.08\$347.70120TYPE 5 AGGREGATE FOR BASE (4 IN, THICK)Material <td< td=""><td></td><td>0040</td><td>EMBANKMENT IN</td><td>I PLACE</td><td>Material</td><td></td><td>generated Material Payment Estin Adjustment (0004) due to user overridding Payment Estimate Excer</td><td>nate Item schnod1 ption 1 on</td><td>15,801</td><td>\$20.00</td><td>\$316,020.00</td></td<>		0040	EMBANKMENT IN	I PLACE	Material		generated Material Payment Estin Adjustment (0004) due to user overridding Payment Estimate Excer	nate Item schnod1 ption 1 on	15,801	\$20.00	\$316,020.00
Adjustment Type applied is FUELControl0120TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)MaterialCharacter0120TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)MaterialThis adjustment offsets the original system- Adjustment (0030) due to user schood overridding Payment Estimate tem Adjustment (0030) due to user schood overridding Payment Estimate tem Adjustment (0030) due to user schood overridding Payment Estimate tem Adjustment (0030) due to user schood overridding Payment Estimate tem Adjustment (0030) due to user schood overridding Payment Estimate tem Adjustment (0030) due to user schood overridding Payment Estimate tem Payment Estimate Exception 44.419.2\$28.49\$125.903.00160MISC.MaterialThis adjustment offsets the original system- Adjustment (0031) due to user schood overridding Payment Estimate		0070	LINEAR GRADING (	CLASS 1	Overrun				-3	\$550.00	(\$1,650.00
IndexIndexInternal Reference0120TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)MaterialThis adjustment offsets the original system Adjustment (0030) due to user schnod to overridding Payment Estimate Estimate Estimate4.636.9\$10.50\$48.687.40160MISC.Material-4.419.2\$28.49(\$125,903.0)0160MISC.Material-4.419.2\$28.49\$125,903.00160MISC.Material-4.419.2\$28.49\$125,903.00300ROCK LININGMaterialThis adjustment offsets the original system- generated Material Payment Estimate Istimate Istimate\$2.825.00\$450.000300ROCK LININGMaterialThis adjustment offsets the original system- Adjustment (0032) due to user schnod to overridding Payment Estimate Item Adjustment (0032) due to user schnod to overridding Payment Estimate Item Adjustment (0032) due to user schnod to overridding Payment Estimate Item Adjustment (0032) due to user schnod to overridding Payment Estimate Item Adjustment (0033) due to user schnod to overridding Payment Estimate Item Adjustment (0033) due to user schnod to overridding Payment Estimate Item Adjustment (0033) due to user schnod to overridding Payment Estimate Item Adjustment (0033) due to user schnod to overridding Payment Estimate Item Adjustment (0033) due to user schnod to overridding Payment Estimate Item Adjustment (0033) due to user schnod to overridding Payment Estimate Item Adjustment (0033) due to user schnod to overridding Payment Estimate Item Adjustment (0033) due to user schnod to overridding Payment Estimate Item Adjustment (0034) due to user schnod to overridding Payment Estimate I		0120			Price				4,636.9	\$0.08	\$347.77
BASE (4 IN. THICK)BASE (5 International expension of the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Estimate Item (033) (due to user schood) overridding Payment Estimate Estimate Item (033) (due to user schood) overridding Payment Estimate Estimate Item (033) (due to user schood) overridding Payment Estimate Estimate Item (033) (due to user schood) overridding Payment Estimate Estimate Item (033) (due to user schood) overridding Payment Estimate Estimate Item (033) (due to user schood) overridding Payment Estimate Estimate Item (033) (due to user schood) overridding Payment Estimate Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (033) (due to user schood) overridding Payment Estimate Item (034) (due to user schood) overridding Payment Estimate Item (034) (due to user schood) overridding Paym		0120			Material				-4,636.9	\$10.50	(\$48,687.45
0160MISC.MaterialThis adjustment offsets the original system- generated Material Payment Estimate Exception 4 on the current Payment Estimate Exception 4 on to verridding Payment Estimate Exception 15 on the current Payment Estimate Exception 15 on the current Payment Estimate Exception 6 on the current Payment Estimate Exception 6 on the current Payment Estimate Exception 6 on the current Paymen		0120			Material		generated Material Payment Estir Adjustment (0030) due to user overridding Payment Estimate Excer	mate Item r schnod1 ption 2 on	4,636.9	\$10.50	\$48,687.45
Image: Rest in the second se		0160		MISC.	Material				-4,419.2	\$28.49	(\$125,903.01
0300ROCK LININGMaterialThis adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0032) due to user schood1 overridding Payment Estimate Exception 15 on the current Payment Estimate Exception 152\$225.00\$450.00310IMPACT ATTENUATOR 55 MPH (SAND BARREL ARRAY)MaterialMaterialCS2,000.00\$6,000.00310IMPACT ATTENUATOR 55 MPH (SAND BARREL ARRAY)MaterialThis adjustment offsets the original system- generated Material Payment Estimate Exception 16 on the current Payment Estimate Exception 17 on the current Payment Estimate Item Adjustment offsets the original system- generated Material Payment Estimate Exception 17 on the current Payment Estimate Item Adjustment O(035) due to user schond1 overridding Payment Estimate Exception 17 on the current Payment Estimate Item Adjustment (0035) due to user schond1 overridding Payment Estimate Item Adjustment Est		0160		MISC.	Material		generated Material Payment Estin Adjustment (0031) due to user overridding Payment Estimate Excer	mate Item r schnod1 ption 4 on	4,419.2	\$28.49	\$125,903.01
Generated Material Payment Estimate Item Adjustment (0032) due to user schnod1 overridding Payment Estimate Exception 15 on the current Payment Estimate Item Adjustment (0033) due to user schnod1 overridding Payment Estimate Exception 16 on the current Payment Estimate Item generated Material Payment Estimate Item generated Material Payment Estimate Item generated Material Payment Estimate Item adjustment (0034) due to user schnod1 overridding Payment Estimate Item Adjustment (0035) due to user schnod		0300	ROCK	LINING	Material				-2	\$225.00	(\$450.00
MPH (SAND BARREL ARRAY)Material MaterialThis adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0033) due to user schood1 overridding Payment Estimate Exception 16 on the current Payment Estimate Item Adjustment (0033) due to user schood1 overridding Payment Estimate Exception 16 on the current Payment Estimate Item Adjustment (0033) due to user schood1 overridding Payment Estimate Exception 16 on the current Payment Estimate3\$2,000.00\$6,000.000320REPLACEMENT SAND BARRELMaterialMaterialConstruction\$330.00\$(\$990.00)0320REPLACEMENT SAND BARRELMaterialMaterialThis adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0034) due to user schood1 overridding Payment Estimate Exception 17 on the current Payment Estimate.3\$330.00\$990.000350CONSTRUCTION SIGNSMaterialMaterialThis adjustment offsets the original system- generated Material Payment Estimate\$5.00\$2,200.000350CONSTRUCTION SIGNSMaterialThis adjustment offsets the original system- Adjustment (0035) due to user schood1 overridding Payment Estimate.\$440\$5.00\$2,200.000350CONSTRUCTION SIGNSMaterialThis adjustment offsets the original system- Adjustment (0035) due to user schood1 overridding Payment Estimate.\$440\$5.00\$2,200.00040S000S000S000S000S000S000\$2,200.00\$2,200.00 <tr <tr="">0350CONSTRUCTION SIGNS</tr>		0300	ROCK	LINING	Material		generated Material Payment Estin Adjustment (0032) due to user overridding Payment Estimate Exc	mate Item r schnod1 ception 15	2	\$225.00	\$450.00
MPH (SAND BARREL ARRAY)Meterial ARRAY)generated Material Payment Estimate Item Adjustment (0033) due to user schnod1 overridding Payment Estimate Exception 16 on the current Payment EstimateSinceSince0320REPLACEMENT SAND BARRELMaterialMaterialSince-3\$330.00(\$990.0)0320REPLACEMENT SAND BARRELMaterialMaterialThis adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0034) due to user schnod1 overridding Payment Estimate Exception 17 on the current Payment Estimate Exception 17 on the current Payment Estimate Item Adjustment (0035) due to user schnod1 overridding Payment Estimate Exception 19 on the current Payment Estimate Item Adjustment (0035) due to user schnod1 overridding Payment Estimate Exception 19 on the current Payment Estimate.440\$5.00\$2,200.0		0310	MPH (SAND E	BARREL	Material				-3	\$2,000.00	(\$6,000.00
Image: Barrel		0310	MPH (SAND E	BARREL	Material		generated Material Payment Estin Adjustment (0033) due to user overridding Payment Estimate Exc	mate Item r schnod1 ception 16	3	\$2,000.00	\$6,000.00
BARRELBARRELgenerated Material Payment Estimate Item Adjustment (0034) due to user schnod1 overridding Payment Estimate Exception 17 on the current Payment Estimate.Image: Construction SignsMaterial0350CONSTRUCTION SIGNSMaterialMaterial-440\$5.00(\$2,200.01)0350CONSTRUCTION SIGNSMaterialThis adjustment offsets the original system generated Material Payment Estimate Item Adjustment (0035) due to user schnod1 overridding Payment Estimate Exception 19 on the current Payment Estimate Item Adjustment (0035) due to user schnod1 overridding Payment Estimate Exception 19 on the current Payment Estimate Exception 19 on the current Payment Estimate Exception 19\$440\$5.00\$2,200.01		0320			Material				-3	\$330.00	(\$990.00
0350CONSTRUCTION SIGNSMaterialThis adjustment offsets the original system generated Material Payment Estimate Item Adjustment (0035) due to user schnod1 overridding Payment Estimate Exception 19 on the current Payment Estimate.440\$5.00\$2,200.01		0320			Material		generated Material Payment Estin Adjustment (0034) due to user overridding Payment Estimate Exc	mate Item r schnod1 ception 17	3	\$330.00	\$990.00
generated Material Payment Estimate Item Adjustment (0035) due to user schnod1 overridding Payment Estimate Exception 19 on the current Payment Estimate.		0350	CONSTRUCTION	SIGNS	Material				-440	\$5.00	(\$2,200.00
		0350	CONSTRUCTION	N SIGNS	Material		generated Material Payment Estin Adjustment (0035) due to user overridding Payment Estimate Exc	mate Item r schnod1 ception 19	440	\$5.00	\$2,200.00
		0360	ADVANCED WARNIN	NG RAII	Material		,		-3	\$50.00	(\$150.00



### Missouri Department of Transportation Contractor's Pay Estimate Summary

Proç	gress E	stimate Number 4	Contract Prime Co		210219-C04 deker, Inc.	Pay Period End June 30, 2021 Net	iginal Contract Amo t Change Order Am rrent Contract Amo	ount (\$0	357,163.79 .02) 357,163.77
Project Number	Line No.	Item Descrip	tion	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
4P3275			SYSTEM						
	0360	ADVANCED WARM	NING RAIL SYSTEM	Material		This adjustment offsets the original sy generated Material Payment Estimate Adjustment (0036) due to user scl overridding Payment Estimate Excepti on the current Payment Est	e Item hnod1 ion 20	\$50.00	\$150.00
	0370	CHANNELIZER (T	RIM LINE)	Material			-95	\$23.00	(\$2,185.00
	0370	CHANNELIZER (T	RIM LINE)	Material		This adjustment offsets the original sy generated Material Payment Estimate Adjustment (0037) due to user scl overridding Payment Estimate Except on the current Payment Est	e Item hnod1 ion 23	\$23.00	\$2,185.00
	0400	TEMPORARY LO RUMBL	NG-TERM .E STRIPS	Material			-4	\$900.00	(\$3,600.00)
	0400	TEMPORARY LO RUMBL	NG-TERM .E STRIPS	Material		This adjustment offsets the original sy generated Material Payment Estimate Adjustment (0038) due to user scl overridding Payment Estimate Excepti on the current Payment Est	e Item hnod1 ion 26	\$900.00	\$3,600.00
	0410	TEMPORARY BARRIER AN CON FURNISHED / F	ICHORED, TRACTOR	Material			-2,937.5	\$33.00	(\$96,937.50)
	0410	TEMPORARY TRAFFIC BARRIER ANCHORED, CONTRACTOR FURNISHED / RETAINED		Material		This adjustment offsets the original sy generated Material Payment Estimate Adjustment (0039) due to user scl overridding Payment Estimate Except on the current Payment Esti	e Item hnod1 ion 27	\$33.00	\$96,937.50
	0420		' TRAFFIC R HEIGHT ANSITION	Material			-2	\$850.00	(\$1,700.00)
	0420		TRAFFIC R HEIGHT ANSITION	Material		This adjustment offsets the original sy generated Material Payment Estimate Adjustment (0040) due to user scl overridding Payment Estimate Exception the current Payment Est	e Item hnod1 ion 28	\$850.00	\$1,700.00
	0480	TEMPORARY REI MARKING T		Material			-4,314	\$1.00	(\$4,314.00)
	0480	TEMPORARY REI MARKING T		Material		This adjustment offsets the original sy generated Material Payment Estimate Adjustment (0041) due to user scl overridding Payment Estimate Except on the current Payment Est	e Item hnod1 ion 31	\$1.00	\$4,314.00
	0490	TEMPORARY REI MARKING T		Material			-7,428	\$1.00	(\$7,428.00)
	0490	TEMPORARY REI MARKING T		Material		This adjustment offsets the original sy generated Material Payment Estimate Adjustment (0042) due to user scl overridding Payment Estimate Except on the current Payment Est	e Item hnod1 ion 32	\$1.00	\$7,428.00
	0590	18 IN. OR A SUBSTITUTE FLARED END	GROUP A	Material			-2	\$606.00	(\$1,212.00)
	0590	18 IN. OR / SUBSTITUTE FLARED END	GROUP A	Material		This adjustment offsets the original sy generated Material Payment Estimate Adjustment (0043) due to user scl overridding Payment Estimate Except on the current Payment Est	e Item hnod1 ion 45	\$606.00	\$1,212.00

### Missouri Department of Transportation Contractor's Pay Estimate Summary

Prog	gress Es	4 Contrac 4 Prime C		210219-C04 Ideker, Inc.	Pay Period End June 30, 2021 Net Chan	Contract Amo ge Order Am Contract Amo	ount (\$0	357,163.79 .02) 357,163.77
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J4P3275	0640	ROCK DITCH CHECK	Overrun			-77	\$40.00	(\$3,080.00)
	0640	ROCK DITCH CHECK	Material			-140	\$40.00	(\$5,600.00)
	0640	ROCK DITCH CHECK	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0044) overridding Payment Estimate Exception 62 on the current Payment Estimate. Material Insufficiency Quantity 140.000; Overrun Quantity Balance 77.00.	77	\$40.00	\$3,080.00
	0640	ROCK DITCH CHECK	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0045) due to user schnod1 overridding Payment Estimate Exception 51 on the current Payment Estimate.	140	\$40.00	\$5,600.00
	0640	ROCK DITCH CHECK	Other Item Adjustment	Overrun	Payment held for overrun exception.			(\$3,080.00)
	0670	TEMPORARY SEEDING AND MULCHING	Overrun			-2.3	\$1,605.00	(\$3,691.50)
	0670	TEMPORARY SEEDING AND MULCHING				-3	\$1,605.00	(\$4,815.00)
	0670	TEMPORARY SEEDING AND MULCHING	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0046) overridding Payment Estimate Exception 63 on the current Payment Estimate. Material Insufficiency Quantity 3.000; Overrun Quantity Balance 2.30.	2.3	\$1,605.00	\$3,691.50
	0670	TEMPORARY SEEDING AND MULCHING	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0047) due to user schnod1 overridding Payment Estimate Exception 52 on the current Payment Estimate.	3	\$1,605.00	\$4,815.00
	0670	TEMPORARY SEEDING AND MULCHING	Other Item Adjustment	Overrun	Payment held for overrun exception.			(\$3,691.50)
	0680	SILT FENCE	Material			-4,879	\$3.00	(\$14,637.00)
	0680	SILT FENCE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0048) due to user schnod1 overridding Payment Estimate Exception 56 on the current Payment Estimate.	4,879	\$3.00	\$14,637.00
J4S3278	1120	GRAVEL (A)	Material			-118	\$87.92	(\$10,374.56)
	1120	GRAVEL (A)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0049) due to user schnod1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	118	\$87.92	\$10,374.56
	1140	TACK COAT	Material			-93	\$2.50	(\$232.50)
	1140	TACK COAT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user schnod1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	93	\$2.50	\$232.50
	1150	3 IN. CONCRETE MEDIAN STRIP				-11.3	\$298.60	(\$3,374.18)
	1150	3 IN. CONCRETE MEDIAN STRIP			This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user schnod1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	11.3	\$298.60	\$3,374.18
	1160	CONSTRUCTION SIGNS	Material			-220	\$4.00	(\$880.00)
								. ,



Proç	gress E	stimate Number 4	Contract Prime Co		210219-C04 deker, Inc.	Pay Period End June 30, 2021 Net Ch	I Contract Ame ange Order Am t Contract Ame	iount (\$0	357,163.79 .02) 357,163.77
Project Number	Line No.	Item Descript	ion	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
I4S3278	1160	CONSTRUCTIO	ON SIGNS	Material		This adjustment offsets the original syster generated Material Payment Estimate Ite Adjustment (0007) due to user schnoo overridding Payment Estimate Exception 1 on the current Payment Estimat	n 1 8	\$4.00	\$880.00
	1170	FLAG AS	SSEMBLY	Material			-2	\$25.00	(\$50.00
	1170	FLAG AS	SSEMBLY	Material		This adjustment offsets the original syster generated Material Payment Estimate Ite Adjustment (0008) due to user schnoo overridding Payment Estimate Exception 2 on the current Payment Estimat	n 1 1	\$25.00	\$50.00
	1190	CHANNELIZER (TR	RIM LINE)	Material			-80	\$1.00	(\$80.00
	1190	CHANNELIZER (TR	RIM LINE)	Material		This adjustment offsets the original syster generated Material Payment Estimate Ite Adjustment (0009) due to user schnod overridding Payment Estimate Exception 2 on the current Payment Estimat	m 1 2	\$1.00	\$80.00
	1200	TYPE III MO BARRICADE WITH		Overrun		Averaged Price Adjustment from this item of all previous payment estimates of '0.00000' applied (if non-zero	is	\$75.00	(\$375.00
	1200	TYPE III MO BARRICADE WITH		Material			-22	\$75.00	(\$1,650.00
	1200	TYPE III MO BARRICADE WITH		Overrun		This adjustment offsets the original syster generated Overrun Payment Estimate Ite Adjustment (0010) overridding Payme Estimate Exception 59 on the current Payme Estimate. Material Insufficiency Quanti 22.000; Overrun Quantity Balance 5.0	n ht ht	\$75.00	\$375.00
	1200	TYPE III MC BARRICADE WITH		Material		This adjustment offsets the original syster generated Material Payment Estimate Ite Adjustment (0011) due to user schnoo overridding Payment Estimate Exception 2 on the current Payment Estimat	n 1 4	\$75.00	\$1,650.00
	1210	COMMUN INTERFACE, CONT FURNISHED, CONT	WITHOUT NICATION TRACTOR	Material			-3	\$1,000.00	(\$3,000.00
	1210	COMMUN INTERFACE, CONT FURNISHED, CONT	WITHOUT NICATION TRACTOR	Material		This adjustment offsets the original syster generated Material Payment Estimate Ite Adjustment (0012) due to user schnoo overridding Payment Estimate Exception 2 on the current Payment Estimat	m 1 5	\$1,000.00	\$3,000.00
	1230			Material			-1	\$800.00	(\$800.00
	1230			Material		This adjustment offsets the original syster generated Material Payment Estimate Ite Adjustment (0013) due to user schnod overridding Payment Estimate Exception 3 on the current Payment Estimate	n 1 0	\$800.00	\$800.00
	1240	4 IN. WHITE ST WATERBORNE PA MARKING PAINT	VEMENT	Material			-19,047	\$0.10	(\$1,904.70
	1240	4 IN. WHITE ST WATERBORNE PA		Material		This adjustment offsets the original syster generated Material Payment Estimate Ite		\$0.10	\$1,904.70



### Missouri Department of Transportation Contractor's Pay Estimate Summary

Proç	gress E	stimate Number 4	Contract Prime Co		210219-C04 deker, Inc.		June 16, 2021 June 30, 2021	Net Chan	Contract Amo ge Order Am Contract Amo	ount (\$0	357,163.79 .02) 357,163.77
Project Number	Line No.	Item Descript	ion	Adjustment Type	Other Item Adjustment Type		omments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J4S3278		MARKING PAINT	, TYPE P BEADS			overridding Paym	0014) due to use ent Estimate Ex current Paymen	ception 33			
	1250	4 IN. YELLOW ST WATERBORNE PA MARKING PAINT	VEMENT	Material					-7,377	\$0.10	(\$737.70)
	1250	4 IN. YELLOW ST WATERBORNE PA MARKING PAINT	VEMENT	Material		overridding Paym	ial Payment Est 0015) due to use	timate Item er schnod1 (ception 35	7,377	\$0.10	\$737.70
	1260	8 IN. WHITE ST WATERBORNE PA MARKING PAINT	VEMENT	Material					-112	\$0.50	(\$56.00)
	1260	8 IN. WHITE ST WATERBORNE PA MARKING PAINT	VEMENT	Material		overridding Paym	ial Payment Ĕst )016) due to use	timate Item er schnod1 cception 37	112	\$0.50	\$56.00
	1270	24 IN. WHITE ST WATERBORNE PA MARKING PAINT	VEMENT	Material					-24	\$5.00	(\$120.00)
	1270	24 IN. WHITE ST WATERBORNE PA MARKING PAINT	VEMENT	Material		overridding Paym	ial Payment Est 0017) due to use	timate Item er schnod1 (ception 40	24	\$5.00	\$120.00
	1320	12 IN. PIPE (	GROUP C	Material					-50	\$54.00	(\$2,700.00)
	1320	12 IN. PIPE (	GROUP C	Material		overridding Paym	ial Payment Est 0018) due to use	timate Item er schnod1 (ception 43	50	\$54.00	\$2,700.00
	1330	18 IN. PIPE (	GROUP C	Material					-50	\$65.00	(\$3,250.00)
	1330	18 IN. PIPE (	GROUP C	Material		overridding Paym	ial Payment Ĕst 0019) due to use	timate Item er schnod1 (ception 44	50	\$65.00	\$3,250.00
	1340	SEEDING - COOL M	SEASON IXTURES	Material					-0.2	\$5,940.00	(\$1,188.00)
	1340	SEEDING - COOL M	SEASON IXTURES	Material		overridding Paym	ial Payment Ĕst 020) due to use	timate Item er schnod1 (ception 46	0.2	\$5,940.00	\$1,188.00
	1350	ROCK DITCI	H CHECK	Material					-84	\$40.00	(\$3,360.00)
	1350	ROCK DITCI	H CHECK	Material		overridding Paym	ial Payment Ĕst 0021) due to use	timate Item er schnod1 (ception 50	84	\$40.00	\$3,360.00
	1370	SIL	T FENCE	Material					-40	\$4.70	(\$188.00)
	1370	SIL	T FENCE	Material		This adjustment of generated Materi Adjustment (0		timate Item	40	\$4.70	\$188.00



### Missouri Department of Transportation Contractor's Pay Estimate Summary

Prog	jress Es	timate Number 4	Contract Prime Co		210219-C04 deker, Inc.	Pay Period End June 30, 2021 N	et Chang	ontract Amo le Order Amo ontract Amo	ount (\$0	,357,163.79 ).02) ,357,163.77
Project Number	Line No.	Item Descrip	tion	Adjustment Type	Other Item Adjustment Type	Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
I4S3278						overridding Payment Estimate Except on the current Payment Estimate				
	1380	CONCRETE FO	OOTINGS, //BEDDED	Material				-0.1	\$1,650.00	(\$165.00
	1380	CONCRETE FO	OOTINGS, /IBEDDED	Material		This adjustment offsets the original s generated Material Payment Estima Adjustment (0023) due to user s overridding Payment Estimate Excep on the current Payment Est	ate Item schnod1 ption 57	0.1	\$1,650.00	\$165.00
	1400	BITUMINOUS PA MIXTURE PG64-		Price		Reference Item Price Adjustmer Adjustment Type applied i		-0.04	\$1.66	(\$0.07
	1400	BITUMINOUS PA MIXTURE PG64-		Overrun		Unit price based on averaged adjustments for installed quanti previous payment estimate Adjustments of ',61.26999 - 59.61 applied (if no	ty on all s. Price 1000, 'is	0.04	\$61.27	\$2.45
1	1410	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)		Price		Reference Item Price Adjustmer Adjustment Type applied i		0.01	\$1.66	\$0.02
	1420	BITUMINOUS P/ MIXTURE (SURFACE L	E PG64-22	Overrun		Averaged Price Adjustment from this all previous payment estimates of '1.6 applied (if no	2680' is	-87	\$60.48	(\$5,261.48
	1420	BITUMINOUS P/ MIXTURE (SURFACE L	E PG64-22	Material				-2,367.5	\$58.85	(\$139,327.38
	1420	BITUMINOUS P/ MIXTURE (SURFACE L	E PG64-22	Overrun		This adjustment offsets the original s generated Overrun Payment Estima Adjustment (0025) overridding P Estimate Exception 60 on the current P Estimate. Material Insufficiency O 2367.500; Overrun Quantity Balance	ate Item Payment Payment Quantity	87	\$60.48	\$5,261.48
	1420	BITUMINOUS P/ MIXTURE (SURFACE L	E PG64-22	Material		This adjustment offsets the original s generated Material Payment Estima Adjustment (0026) due to user s overridding Payment Estimate Excepti the current Payment Est	ate Item schnod1 ion 5 on	2,367.5	\$58.85	\$139,327.38
	1430	TA	CK COAT	Material				-8,950	\$2.50	(\$22,375.00
	1430	TA	CK COAT	Material		This adjustment offsets the original s generated Material Payment Estima Adjustment (0027) due to user s overridding Payment Estimate Excepti the current Payment Est	ate Item schnod1 ion 8 on	8,950	\$2.50	\$22,375.00
otal	· · · ·									(\$7,752.8



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J4P3275	FAF 92-1(35)	Intersection improvements	92	PLATTE	at intersection of Rte. 45 Spur
J4S3278	FAS S302(80)	Resurface	45	PLATTE	from Route 92 to Route 45

#### Totals by Job Numbers

P3275	This Estimate	Previous	To Date
Posted Item Pay	\$280,742.46	\$502,744.05	\$783,486.51
Gross Item Adjustments	(\$7,755.23)	\$57,717.13	\$49,961.90
Gross Item Pay	\$272,987.23	\$560,461.18	\$833,448.41
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
S3278	This Estimate	Previous	To Date
Posted Item Pay	\$106.67	\$1,024,429.47	\$1,024,536.14
Gross Item Adjustments	\$2.40	\$17,023.17	\$17,025.57
Gross Item Pay	\$109.07	\$1,041,452.64	\$1,041,561.71
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period		1	
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 2035500, Project Item Line Number 0040, Material Set 203550096, Material 0200XXCS - Compacted Soil for Subgrade orEmbankment, Acceptance Action Generic 0200XXCS is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 3040504, Project Item Line Number 0120, Material Set 304050496, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 3101002, Project Item Line Number 1120, Material Set 310100296, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 4019905, Project Item Line Number 0160, Material Set 401990596, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 4020520, Project Item Line Number 1420, Material Set 402052096, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 4071005, Project Item Line Number 1140, Material Set 407100596, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 4071005, Project Item Line Number 1140, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 4071005, Project Item Line Number 1430, Material Set 407100596, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 4071005, Project Item Line Number 1430, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6083003, Project Item Line Number 1150, Material Set 608300396, Material 1005GDCMLD - Masonry Grade D LS/DO, Acceptance Action Generic 1005GDCMLD is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6083003, Project Item Line Number 1150, Material Set 608300396, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6083003, Project Item Line Number 1150, Material Set 608300396, Material 1005GECMLS - Masonry Grade E LS/DO, Acceptance Action Generic 1005GECMLS is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6083003, Project Item Line Number 1150, Material Set 608300396, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6083003, Project Item Line Number 1150, Material Set 608300396, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 6097000, Project Item Line Number 0300, Material Set 609700096, Material 0611EPM - Embankment Protection Material, Acceptance Action Generic 0611EPM is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 6122012, Project Item Line Number 0310, Material Set 612201296, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 6122020, Project Item Line Number 0320, Material Set 612202096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6161005, Project Item Line Number 1160, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 6161005, Project Item Line Number 0350, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 6161008, Project Item Line Number 0360, Material Set 616100896, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3276, Item 6161009, Project Item Line Number 1170, Material Set 616100996, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6161025, Project Item Line Number 1190, Material Set 616102596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 6161025, Project Item Line Number 0370, Material Set 616102596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3276, Item 6161031, Project Item Line Number 1200, Material Set 616103196, Material 0616TMTC - Temporary Traffic Control Devices,	No Remark was entered by Engineer	schnod1	Overridden



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) this Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Acceptance Action Generic 0616TMTC is insufficient.			
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6161098A, Project Item Line Number 1210, Material Set 6161098A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 6162002, Project Item Line Number 0400, Material Set 616200296, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 6173700B, Project Item Line Number 0410, Material Set 6173700B96, Material 0617TCRCTF - Type F Concrete Traffic Barrier, Acceptance Action Generic 0617TCRCTF is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 6174000A, Project Item Line Number 0420, Material Set 6174000A96, Material 0617MBPKBT.2PC - Two Piece Barrier Height- Transition Sect, Acceptance Action Generic 0617MBPKBT.2PC is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 6174000A, Project Item Line Number 0420, Material Set 6174000A96, Material 0617MBPKBT.1PC - One Piece Barrier Height-Transition Sect, Acceptance Action Generic 0617MBPKBT.1PC is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6200033, Project Item Line Number 1230, Material Set 620003396, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 6205301B, Project Item Line Number 0480, Material Set 6205301B96, Material 1048PMRPMTWH - Marking Tape Removable White, Acceptance Action Generic 1048PMRPMTWH is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 6205303B, Project Item Line Number 0490, Material Set 6205303B96, Material 1048PMRPMTYL - Marking Tape Removable Yellow, Acceptance Action Generic 1048PMRPMTYL is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6206000C, Project Item Line Number 1240, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6206000C, Project Item Line Number 1240, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6206001C, Project Item Line Number 1250, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6206001C, Project Item Line Number 1250, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6206108A, Project Item Line Number 1260, Material Set 6206108A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6206108A, Project Item Line Number 1260, Material Set 6206108A96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6206108A, Project Item Line Number 1260, Material Set 6206108A96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6206124A, Project Item Line Number 1270, Material Set 6206124A96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6206124A, Project Item Line Number 1270, Material Set 6206124A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 6206124A, Project Item Line Number 1270, Material Set 6206124A96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 7250412, Project Item Line Number 1320, Material Set 725041296, Material 1020CPCSZC.012 - CulvPipe Zn Ctd Corrug Stl 12" 300mm, Acceptance Action Generic 1020CPCSZC.012 is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 7250418, Project Item Line Number 1330, Material Set 725041896, Material 1020CPCSZC.018 - CulvPipe Zn Ctd Corrug Stl 18" 450mm, Acceptance Action Generic 1020CPCSZC.018 is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 7320618A, Project Item Line Number 0590, Material Set 7320618A96, Material 1032ESRCF - Conc End Section for Round Pipe, Acceptance Action Generic 1032ESRCF is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 8051000A, Project Item Line Number 1340, Material Set 8051000A96, Material 0801AG - Agricultural Lime -Effective Nuetralizer, Acceptance Action Generic 0801AG is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 8051000A, Project Item Line Number 1340, Material Set 8051000A96, Material 0801FZ - Fertilizer, Acceptance Action Generic 0801FZ is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 8051000A, Project Item Line	No Remark was entered by Engineer	schnod1	Overridden



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Number 1340, Material Set 8051000A96, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.			
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 8051000A, Project Item Line Number 1340, Material Set 8051000A96, Material 0805SD - Grass Seed -Seed, Acceptance Action Generic 0805SD is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 8061005, Project Item Line Number 1350, Material Set 806100596, Material 0806TEC - Temporary Erosion Control, Acceptance Action Generic 0806TEC is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 8061005, Project Item Line Number 0640, Material Set 806100596, Material 0806TEC - Temporary Erosion Control, Acceptance Action Generic 0806TEC is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 8061017, Project Item Line Number 0670, Material Set 806101796, Material 0801FZ - Fertilizer, Acceptance Action Generic 0801FZ is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 8061017, Project Item Line Number 0670, Material Set 806101796, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 8061017, Project Item Line Number 0670, Material Set 806101796, Material 0805SD - Grass Seed -Seed, Acceptance Action Generic 0805SD is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 8061019, Project Item Line Number 1370, Material Set 806101996, Material 1011GXT2 - Geotextile Fabric for TempSiltFence (T2), Acceptance Action Generic 1011GXT2 is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3275, Item 8061019, Project Item Line Number 0680, Material Set 806101996, Material 1011GXT2 - Geotextile Fabric for TempSiltFence (T2), Acceptance Action Generic 1011GXT2 is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3278, Item 9031010, Project Item Line Number 1380, Material Set 903101096, Material 0501CCBA - Concrete, Class B w/Air, Acceptance Action Generic 0501CCBA is insufficient.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Item Overrun: Contract 210219-C04, Contract Project J4S3278, Project Item Line Number 1400, Contract Line Item Number 1400, Item 4011209, Minor Item.	No Remark was entered by Engineer	schnod1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210219-C04, Contract Project J4S3278, Project Item Line Number 1200, Contract Line Item Number 1200, Item 6161031, Minor Item.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Item Overrun: Contract 210219-C04, Contract Project J4S3278, Project Item Line Number 1420, Contract Line Item Number 1420, Item 4020520, Minor Item.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Item Overrun: Contract 210219-C04, Contract Project J4P3275, Project Item Line Number 0070, Contract Line Item Number 0070, Item 2071000, Minor Item.	No Remark was entered by Engineer	schnod1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 210219-C04, Contract Project J4P3275, Project Item Line Number 0640, Contract Line Item Number 0640, Item 8061005, Minor Item.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Item Overrun: Contract 210219-C04, Contract Project J4P3275, Project Item Line Number 0670, Contract Line Item Number 0670, Item 8061017, Minor Item.	No Remark was entered by Engineer	schnod1	Overridden
Estimate Exception Type: Item Overrun: Contract 210219-C04, Contract Project J4P3275, Project Item Line Number 0010, Contract Line Item Number 0010, Item 2013000, Minor Item.	No Remark was entered by Engineer	schnod1	Acknowledged



#### Total Paid / All Items / All Estimates (Including this Estimate)

Contract	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
10219-C04	J4P3275	0001	0010	2013000	CLEARING AND GRUBBING	2.00	0.00	2.00	ACRE	3.00	\$9,000.00	\$27,000.0
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.35	\$69,665.00	\$24,382.7
		0001	0030	2031000	CLASS A EXCAVATION	8,110.00	0.00	8,110.00	CUYD	0.00	\$12.00	\$0.0
		0001	0040	2035500	EMBANKMENT IN PLACE	29,876.00	0.00	29,876.00	CUYD	15,801.00	\$20.00	\$316,020.0
		0001	0050	2036000	COMPACTING EMBANKMENT	6,758.00	0.00	6,758.00	CUYD	0.00	\$2.00	\$0.0
		0001	0060	2063000	CLASS 3 EXCAVATION	75.00	0.00	75.00	CUYD	66.40	\$12.00	\$796.8
		0001	0070	2071000	LINEAR GRADING CLASS 1	30.90	0.00	30.90	STA	33.90	\$550.00	\$18,645.0
		0001	0090	2142000	FURNISHING ROCK FILL	2,040.00	0.00	2,040.00	CUYD	0.00	\$19.20	\$0.0
		0001	0100	2143000	PLACING ROCK FILL	2,040.00	0.00	2,040.00	CUYD	0.00	\$11.00	\$0.
		0001	0110	3040183	TYPE 1 AGGREGATE FOR BASE (8 IN. THICK)	1,500.00	0.00	1,500.00	SQYD	0.00	\$10.50	\$0.
		0001	0120	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	6,498.00	0.00	6,498.00	SQYD	4,636.90	\$10.50	\$48,687.4
		0001	0130	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	13,671.00	0.00	13,671.00	SQYD	0.00	\$11.65	\$0.
		0001	0140	4010150	TYPE A2 SHOULDER	2,303.80	0.00	2,303.80	SQYD	0.00	\$23.34	\$0.0
		0001	0150	4019905	MISC.OPTIONAL PAVEMENT	10,728.50	0.00	10,728.50	SQYD	0.00	\$45.49	\$0.0
		0001	0160	4019905	MISC.OPTIONAL TEMPORARY PAVEMENT	4,621.50	0.00	4,621.50	SQYD	4,419.20	\$28.49	\$125,903.
		0001	0170	5029905	MISC.TINTED CONCRETE PAVEMENT (8 IN. NON-	576.60	0.00	576.60	SQYD	0.00	\$90.25	\$0.
		0001	0180	6072010	REINFORCED) WOVEN WIRE FENCE	987.00	0.00	987.00	LF	0.00	\$18.75	\$0.
		0001	0190	6079902	MISC.US BOP Drive Gate	1.00	0.00	1.00	EA	0.00	\$2,910.00	\$0.
			0200	6083006	6 IN. CONCRETE MEDIAN STRIP	976.80	0.00	976.80	SQYD	0.00	\$55.35	\$0.
		0001	0200	6085008	PAVED APPROACH, 8 IN.	763.40	0.00	763.40	SQYD	0.00	\$62.70	\$0.
		0001	0210	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	21.00	0.00	21.00	LF	0.00	\$52.00	\$0
		0001	0220	6091011		39.00	0.00	39.00	LF	0.00	\$32.00	\$0.
		0001			CONCRETE CURB (OVER 6 IN. HEIGHT) TYPE S							
		0001	0240	6091041		127.00	0.00	127.00	LF	0.00	\$96.25	\$0.
		0001	0250	6091051	CURB AND GUTTER TYPE A	192.00	0.00	192.00	LF	0.00	\$34.85	\$0.
		0001	0260	6091052	CURB AND GUTTER TYPE B	1,413.00	0.00	1,413.00	LF	0.00	\$29.90	\$0.
		0001	0270	6092011	INTEGRAL CURB (6 IN. HEIGHT AND UNDER) TYPE A	267.00	0.00	267.00	LF	0.00	\$7.70	\$0.
		0001	0280	6092021	INTEGRAL CURB (OVER 6 IN. HEIGHT) TYPE A	192.00	0.00	192.00	LF	0.00	\$8.90	\$0.
		0001	0290	6092031	CONCRETE CURB LOW PROFILE TYPE E	355.00	0.00	355.00	LF	0.00	\$27.20	\$0.
		0001	0300	6097000	ROCK LINING	6.00	0.00	6.00	CUYD	2.00	\$225.00	\$450.
		0001	0310	6122012	IMPACT ATTENUATOR 55 MPH (SAND BARREL ARRAY)	5.00	0.00	5.00	EA	3.00	\$2,000.00	\$6,000.
		0001	0320	6122020	REPLACEMENT SAND BARREL	8.00	0.00	8.00	EA	3.00	\$330.00	\$990.
		0001	0330	6122030	IMPACT ATTENUATOR (RELOCATION)	10.00	0.00	10.00	EA	3.00	\$400.00	\$1,200.
		0001	0340	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.
		0001	0350	6161005	CONSTRUCTION SIGNS	637.00	0.00	637.00	SQFT	440.00	\$5.00	\$2,200.
		0001	0360	6161008	ADVANCED WARNING RAIL SYSTEM	3.00	0.00	3.00	EA	3.00	\$50.00	\$150.
		0001	0370	6161025	CHANNELIZER (TRIM LINE)	141.00	0.00	141.00	EA	95.00	\$23.00	\$2,185
		0001	0380	6161040	FLASHING ARROW PANEL	4.00	0.00	4.00	EA	0.00	\$50.00	\$0.
		0001	0390	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	7.00	0.00	7.00	EA	0.00	\$4,900.00	\$0.
		0001	0400	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	8.00	0.00	8.00	EA	4.00	\$900.00	\$3,600
		0001	0410	6173700B	TEMPORARY TRAFFIC BARRIER ANCHORED, CONTRACTOR FURNISHED / RETAINED	7,925.00	0.00	7,925.00	LF	2,937.50	\$33.00	\$96,937.
		0001 0420 6174000A TEMPORARY TRAFFIC BARRIER HEIGHT TRANSITION			2.00	0.00	2.00	EA	2.00	\$850.00	\$1,700.	
		0001	0430	6175011B	RELOCATING TEMPORARY TRAFFIC BARRIER ANCHORED	7,200.00	0.00	7,200.00	LF	2,792.00	\$13.00	\$36,296
		0001	0440	6175020A	RELOCATING TEMPORARY TRAFFIC BARRIER HEIGHT	5.00	0.00	5.00	EA	2.00	\$400.00	\$800.
					TRANSITION							
		0001	0450	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$343,077.28	\$0.



#### Total Paid / All Items / All Estimates (Including this Estimate)

Contract		Category		ltem	eport Generated date and can differ from the posted amo Description	Bid	time the	Estimate wa	as Gene Unit	Total	Unit Price	Total Value POSTED
Nm.CONTRACT	No.	Category	No.	Code	Description	Quantity	Change Order	Current Quantity	Unit	Posted Approved Qty	Unit Price	To Date (See report generated date)
210219-C04	J4P3275	0001	0460	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.00
		0001	0470	6200042	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 12 IN WHITE, YIELD LINE TRIANGLES	48.00	0.00	48.00	EA	0.00	\$50.00	\$0.00
		0001	0480	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	13,131.00	0.00	13,131.00	LF	4,314.00	\$1.00	\$4,314.00
		0001	0490	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	24,834.00	0.00	24,834.00	LF	7,428.00	\$1.00	\$7,428.00
		0001	0500	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	5,679.00	0.00	5,679.00	LF	0.00	\$0.15	\$0.00
		0001	0510	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	8,125.00	0.00	8,125.00	LF	0.00	\$0.18	\$0.00
		0001	0520	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	2,107.00	0.00	2,107.00	LF	0.00	\$0.18	\$0.00
		0001	0530	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	432.00	0.00	432.00	LF	0.00	\$3.00	\$0.00
		0001	0540	6207001	PAVEMENT MARKING REMOVAL	32,031.00	0.00	32,031.00	LF	7,940.00	\$0.25	\$1,985.00
		0001	0550	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	1,205.00	0.00	1,205.00	SQYD	0.00	\$3.35	\$0.00
		0001	0560	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$5,000.00	\$0.00
		0001	0570	7250418	18 IN. PIPE GROUP C	35.00	0.00	35.00	LF	0.00	\$100.00	\$0.00
		0001	0580	7261018	18 IN. PIPE GROUP A	74.00	0.00	74.00	LF	74.00	\$73.00	\$5,402.00
		0001	0590	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$606.00	\$1,212.00
		0001	0600	7320818A	18 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	4.00	0.00	4.00	EA	0.00	\$606.00	\$0.00
		0001	0610	8051000A	SEEDING - COOL SEASON MIXTURES	7.40	0.00	7.40	ACRE	0.00	\$1,605.00	\$0.00
		0001	0620	8061003	SEDIMENT TRAP EXCAVATION	191.00	0.00	191.00	CUYD	0.00	\$8.45	\$0.00
		0001	0630	8061004	SEDIMENT TRAP ROCK	51.00	0.00	51.00	CUYD	0.00	\$90.00	\$0.00
		0001	0640	8061005	ROCK DITCH CHECK	63.00	0.00	63.00	LF	140.00	\$40.00	\$5,600.00
		0001	0650	8061006	ALTERNATE DITCH CHECK	189.00	0.00	189.00	LF	0.00	\$13.00	\$0.00
		0001	0660	8061016	SEDIMENT REMOVAL	105.00	0.00	105.00	CUYD	0.00	\$13.00	\$0.00
		0001	0670	8061017	TEMPORARY SEEDING AND MULCHING	0.70	0.00	0.70	ACRE	3.00	\$1,605.00	\$4,815.00
		0001	0680	8061019	SILT FENCE	5,955.00	0.00	5,955.00	LF	4,879.00	\$3.00	\$14,637.00
		0001	0690	8064134	TYPE 1D EROSION CONTROL BLANKET	8,624.00	0.00	8,624.00	SQYD	0.00	\$1.46	\$0.00
		0001	0700	8064135	TYPE 2A EROSION CONTROL BLANKET	2,123.00	0.00	2,123.00	SQYD	0.00	\$1.39	\$0.00
		0001	0710	8064137	TYPE 2C EROSION CONTROL BLANKET	14,850.00	0.00	14,850.00	SQYD	0.00	\$1.39	\$0.00
		0001	0720	8064138	TYPE 2D EROSION CONTROL BLANKET	9,964.00	0.00	9,964.00	SQYD	0.00	\$1.46	\$0.00
		0010	0730	6061060	MGS GUARDRAIL	1,238.00	0.00	1,238.00	LF	0.00	\$21.00	\$0.00
		0010	0740	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	2,113.00	0.00	2,113.00	LF	0.00	\$25.00	\$0.00
		0010	0750	6061080	MGS END ANCHOR	2.00	0.00	2.00	EA	0.00	\$800.00	\$0.00
		0010	0760	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	9.00	0.00	9.00	EA	0.00	\$2,433.00	\$0.00
		0020	0770	9011030	LIGHTING POLE, 30 FT. OR 9.0 M, TYPE AT	7.00	0.00	7.00	EA	0.00	\$1,793.00	\$0.00
		0020	0780	9011062	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT DESIGN 2	3.00	0.00	3.00	EA	0.00	\$2,987.50	\$0.00
		0020	0790	9011115	BRACKET ARM, 15 FT. OR 4.6 M	10.00	0.00	10.00	EA	0.00	\$852.50	\$0.00
		0020	0800	9011311	LUMINAIRE, LED-A	7.00	0.00	7.00	EA	0.00	\$473.00	\$0.00
		0020	0810	9011312	LUMINAIRE, LED-B	3.00	0.00	3.00	EA	0.00	\$205.00	\$0.00
		0020	0820	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	1.00	0.00	1.00	EA	0.00	\$7,838.00	\$0.00
		0020	0830	9013002	CONDUIT, 2 IN. RIGID, IN TRENCH	100.00	0.00	100.00	LF	0.00	\$13.56	\$0.00
		0020	0840	9013003	CONDUIT, 3 IN. RIGID, IN TRENCH	190.00	0.00	190.00	LF	0.00	\$15.00	\$0.00
		0020	0850	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	20.00	0.00	20.00	LF	0.00	\$15.52	\$0.00
		0020	0860	9015010	TRENCHING TYPE I	92.00	0.00	92.00	LF	0.00	\$10.05	\$0.00
		0020	0870	9016110	PULL BOX, PREFORMED CLASS 1	4.00	0.00	4.00	EA	0.00	\$513.40	\$0.00
		0020	0880	9017002	CABLE, 2 AWG 1 CONDUCTOR	330.00	0.00	330.00	LF	0.00	\$3.30	\$0.00
		0020	0890	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	990.00	0.00	990.00	LF	0.00	\$1.76	\$0.00

#### Total Paid / All Items / All Estimates (Including this Estimate)

Base         Campo         No.         Parts         Mark         Parts         Par	Note: Posted Q					eport Generated date and can differ from the posted amo	ount at the	time the	Estimate wa	as Gene	rated.		
Image         Image <th< td=""><td></td><td></td><td>Category</td><td></td><td></td><td>Description</td><td></td><td>Change</td><td>Current</td><td>Unit</td><td>Posted Approved</td><td>Unit Price</td><td>To Date (See report</td></th<>			Category			Description		Change	Current	Unit	Posted Approved	Unit Price	To Date (See report
No.No	210219-C04	J4P3275	0020	0900	9017407		2,300.00	0.00	2,300.00	LF	0.00	\$3.27	\$0.00
no.         no. <td></td> <td></td> <td>0020</td> <td>0910</td> <td>9018230</td> <td>POLE FOUNDATION (30 FT. OR 9.0 M MOUNTING HEIGHT)</td> <td>7.00</td> <td>0.00</td> <td>7.00</td> <td>EA</td> <td>0.00</td> <td>\$970.00</td> <td>\$0.00</td>			0020	0910	9018230	POLE FOUNDATION (30 FT. OR 9.0 M MOUNTING HEIGHT)	7.00	0.00	7.00	EA	0.00	\$970.00	\$0.00
Image: Note of the image: Note image: Note of the image: Note of the image: Note of t			0020	0920	9018245	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	3.00	0.00	3.00	EA	0.00	\$970.00	\$0.00
No <td></td> <td></td> <td>0020</td> <td>0930</td> <td>9018610</td> <td></td> <td>1.00</td> <td>0.00</td> <td>1.00</td> <td>EA</td> <td>0.00</td> <td>\$5,434.00</td> <td>\$0.00</td>			0020	0930	9018610		1.00	0.00	1.00	EA	0.00	\$5,434.00	\$0.00
Image: space s			0040	0940	9031010	CONCRETE FOOTINGS, EMBEDDED	0.40	0.00	0.40	CUYD	0.00	\$1,650.00	\$0.00
No <td></td> <td></td> <td>0040</td> <td>0950</td> <td>9031210</td> <td>STRUCTURAL STEEL POSTS</td> <td>190.00</td> <td>0.00</td> <td>190.00</td> <td>LB</td> <td>0.00</td> <td>\$4.00</td> <td>\$0.00</td>			0040	0950	9031210	STRUCTURAL STEEL POSTS	190.00	0.00	190.00	LB	0.00	\$4.00	\$0.00
Image         Image <th< td=""><td></td><td></td><td>0040</td><td>0960</td><td>9031220</td><td>PIPE POSTS</td><td>692.00</td><td>0.00</td><td>692.00</td><td>LB</td><td>0.00</td><td>\$5.00</td><td>\$0.00</td></th<>			0040	0960	9031220	PIPE POSTS	692.00	0.00	692.00	LB	0.00	\$5.00	\$0.00
Note 100010011001NOT MAXINGR FOR 2 M P887 12 GA.44.000.0044.001.010.000.100 <th< td=""><td></td><td></td><td>0040</td><td>0970</td><td>9031241</td><td></td><td>6.00</td><td>0.00</td><td>6.00</td><td>EA</td><td>0.00</td><td>\$225.00</td><td>\$0.00</td></th<>			0040	0970	9031241		6.00	0.00	6.00	EA	0.00	\$225.00	\$0.00
Nome Nome<			0040	0980	9031270A	2 IN. PSST POST - 12 GA.	277.00	0.00	277.00	LF	0.00	\$11.00	\$0.00
Varbox Varbox			0040	0990	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	48.00	0.00	48.00	LF	0.00	\$19.00	\$0.00
Image: Note of the set of th			0040	1000	9031272	2.25 IN. PSST POST - 12 GA.	36.00	0.00	36.00	LF	0.00	\$11.00	\$0.00
No.No.SolSolSolNo.No			0040	1010	9031273	POST ANCHOR FOR 2 IN. PSST - 7 GA.	18.00	0.00	18.00	LF	0.00	\$47.00	\$0.00
No.No.SolSolSolNo.No													
Mode         Good         Good         Status         Status         Status         Status           Good         Good         Status         Status         Status         Status         Status         Status         Status           Good         Good         Status         Status<													
004001090509110517RUCTURAL06000.00<													
No.         No.         State         State         State         State         State           000         1000         900900         9009000         9009000         9009000         900000         9000000         9000000 <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>													
04.407005900MISC. EACH10.010.00.0010.0													
1000         6001         8000         MISC CONTRACT BOND PAYMENT         0.00         1.00 <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></th<>													
Project JP2177         Postet to Bate as fRegord Generated Date         Postet Log Sector         Postet L													
MS3270         D001         D000         D20100         REMOVAL OF MPROVEMENTS         1.00         0.00         1.00         L.00         L.00         S.00         S.00 <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td>0.00</td><td>1.00</td><td>1.00</td><td>LS</td><td>1.00</td><td>\$24,150.00</td><td></td></th<>							0.00	1.00	1.00	LS	1.00	\$24,150.00	
00011090203100CLASS A EXCAVATION120012001200CUVD0.00588.0000011100205500CLASS 3 EXCAVATION24.00370.000.00370.00CUVD24.00512.00512.0000011120301002CALSS 3 EXCAVATION24.0024.000.00370.0070NS0.00588.00512.00522.00512.00523.0052							1.00	0.00	1.00	18	1.00	\$2,004,00	
00011100205500EMBANKMENT IN PLACE370005700CUYD0.00544.00547.0000011100265000CLNS 3 EXCAVATION24.0024.00CUYD24.00CUYD24.00512.00512.00000111203101002GAVEL (A)396.00396.00708.00708.00708.00512.30587.92513.037.4500011130401.200GTUMMOUS PAVEMENT MIXTURE PG64.22, (BP-1)124.300.00708.00708.00512.30587.92513.037.7200011140407.005TACC CATGTUMMOUS PAVEMENT MIXTURE PG64.22, (BP-1)124.000.00708.0064.193.0064.193.0064.193.0064.193.0052.50522.500001115063030031.1 CONCRETE MEDIAN STRIP113.000.00130.0064.094.0055.0064.020.0054.00<		0400270											
0001         110         268300         CLASS 3 EXCAVATION         24.00         0.00         24.00         CUV         24.00         512.00           0001         112         310100         GRAVEL (A)         396.00         0.00         396.00         TONS         118.00         587.02         587.03           0001         1130         401209         BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)         124.30         0.00         174.80         CONS         587.10         587.03													
0001         1120         3101002         GRAVEL (A)         396.00         0.00         396.00         TONS         11.80         \$37.92         \$310.37.45           0001         1130         4011209         BITUMINOUS PAVEMENT MUTURE PG64-22. (B-1)         124.30         0.00         124.30         TONS         124.30         \$30.00         50.01         14.30         \$37.92         \$32.50           0001         1140         4071005         TACK COAT         50.00         50.00         0.00         \$33.00         60.01         11.30         \$25.90         \$23.37.18           0001         1160         616105         CONSTRUCTION SIGNS         393.00         50.00         50.00         F2         \$20.00         \$4.000         \$38.00           0001         1170         616102         CHANNELIZER (TRIM LINE) WITH LIGHT         7.00         5.00         FA         6.00         \$1.00         \$5.00         FA         6.00         \$1.00         \$5.00         \$1.00         \$5.00         \$1.00         \$5.00         \$1.00         \$5.00         \$5.00         \$1.00         \$5.00         \$5.00         \$1.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00													
0001         1130         401120         BITUMINOUS PAVEMENT MIXTURE PG4-22, (BP-1)         124.30         0.00         124.30         TONS         124.30         S87.19         S10.837.2           0001         1404         4071005         TACK COAT         B3.00         0.00         9.00         G4.4         9.00         52.50         52.52         522.50           0001         1160         6161005         CONSTRUCTION SIGNS         39.00         0.00         13.00         SGF         2.200         34.00         58.00           0001         1170         6161005         CONSTRUCTION SIGNS         39.00         0.00         7.00         EA         2.000         \$1.00													
No.         1140         4701005         TACK COAT         93.00         0.00         93.00         GAL         93.00         93.00         93.00         93.00         93.00         93.00         93.00         93.00         93.00         93.00         93.00         94.00         93.00         94.00         93.00         94.00			0001										
0001         1150         6083003         3IN.CONCRETE MEDIAN STRIP         11.30         0.00         11.30         SQV         11.30       <			0001	1130	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	124.30	0.00	124.30	TONS	124.30	\$87.19	\$10,837.72
0001         1160         6161005         CONSTRUCTION SIGNS         393.00         0.00         393.00         SQF1         220.00         \$4.00           0001         1170         6161000         FLAG ASSEMBLY         5.00         0.00         5.00         EA         2.00         \$25.00         \$50.00           0001         1180         6161024         CHANNELIZER (TRIM LINE) WITH LIGHT         7.00         0.00         7.00         EA         8.00.00         \$50.00           0001         1190         6161025         CHANNELIZER (TRIM LINE) WITH LIGHT         7.00         0.00         7.07.0         EA         8.00.00         \$51.00           0001         1200         6161031         TYPE III MOVEABLE BARRICADE WITH LIGHTS         17.00         0.00         17.00         EA         22.00         \$75.00         \$51.600.00           0001         1200         6161005         CHANNELZER CONTRACTOR FURNISHED, CONTRACTOR         3.00         0.00         1.00         EA         1.00         \$51.000         \$51.000           0001         1220         6181000         MOBILZATION         1.00         0.00         1.00         EA         1.00         \$50.00         \$11.90.70         \$50.00         \$51.90.70			0001	1140	4071005	TACK COAT	93.00	0.00	93.00	GAL	93.00	\$2.50	\$232.50
000111706161009FLAG ASSEMBLY5.000.005.00EA2.00\$25.00\$25.00001111806161024CHANNELIZER (TRIM LINE) WITH LIGHT7.000.007.00EA0.00\$1.00\$1.00\$0.00001111906161025CHANNELIZER (TRIM LINE) WITH LIGHT93.000.0093.00EA80.00\$1.00\$10.00\$1.00\$10.00\$1.00			0001	1150	6083003	3 IN. CONCRETE MEDIAN STRIP	11.30	0.00	11.30	SQYD	11.30	\$298.60	\$3,374.18
Note         Note <th< td=""><td></td><td></td><td>0001</td><td>1160</td><td>6161005</td><td>CONSTRUCTION SIGNS</td><td>393.00</td><td>0.00</td><td>393.00</td><td>SQFT</td><td>220.00</td><td>\$4.00</td><td>\$880.00</td></th<>			0001	1160	6161005	CONSTRUCTION SIGNS	393.00	0.00	393.00	SQFT	220.00	\$4.00	\$880.00
0001         1190         616102         CHANNELIZER (TRIM LINE)         93.00         0.00         93.00         0.00         93.00         0.00         80.00         \$1.000         \$1.000			0001	1170	6161009	FLAG ASSEMBLY	5.00	0.00	5.00	EA	2.00	\$25.00	\$50.00
No.         Control         TYPE III MOVEABLE BARRICADE WITH LIGHTS         17.00         0.00         17.00         EA         22.00         \$75.00         \$1,850.00           0001         1200         6161031         TYPE III MOVEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR         3.00         0.00         3.00         EA         3.00         \$1,00.00         \$1,00.00         \$3,00.00           0001         1220         618100         MOBILZATION         1.00         0.00         1.00         LS         1.00         \$12,551.00         \$12,050         \$10.00         \$10.0			0001	1180	6161024	CHANNELIZER (TRIM LINE) WITH LIGHT	7.00	0.00	7.00	EA	0.00	\$1.00	\$0.00
Notion         Notion         Changeable message sign without communication interactor furnished, contractor furnished, cond furnished, contractor furnished, contractor furnished,			0001	1190	6161025	CHANNELIZER (TRIM LINE)	93.00	0.00	93.00	EA	80.00	\$1.00	\$80.00
International Internatinterational International International International			0001	1200	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	17.00	0.00	17.00	EA	22.00	\$75.00	\$1,650.00
Note         Construct         Con			0001	1210	6161098A	INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR	3.00	0.00	3.00	EA	3.00	\$1,000.00	\$3,000.00
Image: Crossing Marker         Crosising Marker         Crossing Marker         Cr			0001	1220	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$12,551.00	\$12,551.00
No.         PAINT, TYPE P BEADS         PAINT, TYPE P BEADS         R.G.			0001	1230	6200033		1.00	0.00	1.00	EA	1.00	\$800.00	\$800.00
0001         1250         62060012         4 IN. YELLOW STANDARD WATERBORNE PAVEMENT         7,377.00         0.00         7,377.00         LF         7,377.00         \$0.10         \$7,377.00           0001         1260         62061008         \$ IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING         112.00         0.00         112.00         LF         112.00         \$0.00         LF         112.00         \$0.00         \$0.00         \$0.00         LF         24.00         \$0.00 <t< td=""><td></td><td></td><td>0001</td><td>1240</td><td>6206000C</td><td>4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING</td><td>19,047.00</td><td>0.00</td><td>19,047.00</td><td>LF</td><td>19,047.00</td><td>\$0.10</td><td>\$1,904.70</td></t<>			0001	1240	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	19,047.00	0.00	19,047.00	LF	19,047.00	\$0.10	\$1,904.70
Non-         PAINT, TYPE P BEADS         PAI			0001	1250	6206001C		7,377.00	0.00	7,377.00	LF	7,377.00	\$0.10	\$737.70
Non-         PAINT, TYPE P BEADS         PAINT, TYPE P BEADS         PAINT, TYPE P BEADS         PAINT, TYPE P BEADS           0001         1280         6221001         COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)         \$71.00         0.00         871.00         \$871.00 <td< td=""><td></td><td></td><td>0001</td><td>1260</td><td>6206108A</td><td>8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS</td><td>112.00</td><td>0.00</td><td>112.00</td><td>LF</td><td>112.00</td><td>\$0.50</td><td>\$56.00</td></td<>			0001	1260	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	112.00	0.00	112.00	LF	112.00	\$0.50	\$56.00
Image: Note of the state of the st			0001	1270	6206124A		24.00	0.00	24.00	LF	24.00	\$5.00	\$120.00
0001         1300         6261000A         BITUMINOUS SHOULDER RUMBLE STRIP         213.30         0.00         213.30         STA         213.30         \$49.70         \$10,601.01			0001	1280	6221001		871.00	0.00	871.00	SQYD	871.00	\$13.65	\$11,889.15
			0001	1290	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	295.00	0.00	295.00	SQYD	295.00	\$16.19	\$4,776.05
0001         1310         6274000         CONTRACTOR FURNISHED SURVEYING AND STAKING         1.00         0.00         1.00         LS         1.00         \$5,000.00			0001	1300	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	213.30	0.00	213.30	STA	213.30	\$49.70	\$10,601.01
Devision 4/4/2020			0001	1310	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$5,000.00	\$5,000.00

#### Total Paid / All Items / All Estimates (Including this Estimate)

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
10219-C04	J4S3278	0001	1320	7250412	12 IN. PIPE GROUP C	50.00	0.00	50.00	LF	50.00	\$54.00	\$2,700.00
		0001	1330	7250418	18 IN. PIPE GROUP C	50.00	0.00	50.00	LF	50.00	\$65.00	\$3,250.00
		0001	1340	8051000A	SEEDING - COOL SEASON MIXTURES	0.50	0.00	0.50	ACRE	0.20	\$5,940.00	\$1,188.00
		0001	1350	8061005	ROCK DITCH CHECK	98.00	0.00	98.00	LF	84.00	\$40.00	\$3,360.00
		0001	1360	8061016	SEDIMENT REMOVAL	21.00	0.00	21.00	CUYD	0.00	\$13.00	\$0.00
		0001	1370	8061019	SILT FENCE	792.00	0.00	792.00	LF	40.00	\$4.70	\$188.00
		0001	1380	9031010	CONCRETE FOOTINGS, EMBEDDED	CUYD	0.10	\$1,650.00	\$165.00			
		0001	1390	9031220	PIPE POSTS	70.00	0.00	70.00	LB	70.00	\$5.00	\$350.00
		0002	1400	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	5,419.50	0.00	5,419.50	TONS	5,819.40	\$59.61	\$346,894.43
		0002	1410	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	8,564.20	0.00	8,564.20	TONS	7,518.80	\$56.21	\$422,631.75
		0002	1420	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	2,280.50	0.00	2,280.50	TONS	2,367.50	\$58.85	\$139,327.38
		0002	1430	4071005	TACK COAT	17,393.00	0.00	17,393.00	GAL	8,950.00	\$2.50	\$22,375.00
		0010	1460	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING 1,175.00 0.00 1,175.00 LF 0.00 \$25.00							
		0010	1470	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	0.00	\$2,433.00	\$0.00
	Project J4	IS3278 - To	otal Value	Posted to D	ate as of Report Generated Date	1						\$1,024,536.12
0219-C04 Ove	rall - Total	Value Post	ted to Dat	te as of Repo	ort Generated Date							\$1,808,022.63



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J4P3275

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0040	2035500	EMBANKMENT IN PLACE	6/16/21	7/1/21	240.00	CUYD	North Side of 92	55+00	62+00			
			6/17/21	7/1/21	170.00	CUYD	North side of 92	57+00		62+00		
			6/19/21	7/1/21	1,410.00	CUYD	North Side of 92 for Stage 2	53+50		73+50		
0070	2071000	LINEAR GRADING CLASS 1	6/30/21	7/1/21	2.70	STA		64+08.09		66+78.63		
				7/1/21	3.20	STA	Entrances					
				7/1/21	4.60	STA		59+00.97		63+57.23		
				7/1/21	11.00	STA		67+64.47		78+60.53		
				7/1/21	12.40	STA		46+56.70		58+98.31		
0120	3040504	TYPE 5 AGGREGATE FOR BASE	6/23/21	7/1/21	515.60	SQYD		64+08.09		66+78.63		
				7/1/21	811.00	SQYD		59+00.97		63+57.23		
				7/1/21	1,649.10	SQYD		67+64.47		78+60.53		
				7/1/21	1,661.20	SQYD		46+56.7		58+98.31		
0160	4019905	MISC.	6/23/21	7/1/21	495.20	SQYD		64+08.09		66+78.63		
				7/1/21	783.80	SQYD		59+00.97		63+57.23		
				7/1/21	1,566.80	SQYD		67+64.47		78+60.53		
				7/1/21	1,573.40	SQYD		46+56.7		58+98.31		
0330	6122030	IMPACT ATTENUATOR (RELOCATION)	6/30/21	7/1/21	1.00	EA	EB 92 Right Side	46+56		46+56		
				7/1/21	1.00		EB 92 Right Side	78+94		78+94		
				7/1/21	1.00		EB 92 Right side	63+93		63+93		
0430	6175011B	RELOC TEMPORARY TRAFFIC BARRIER ANCHORED	6/30/21		331.00		EB 92 Right Side	64+08		67+39		
				7/1/21	1,157.00		EB 92 Right Side	67+40		78+97		
				7/1/21	1,304.00		EB 92 Right Side	46+56		59+60		
0440	6175020A	RELOCATING TEMP. TRAFF BARR HEIGHT TRANS	6/30/21		1.00		EB 92 Right Side East side of Gas Station Entrance	67+46		67+46		
				7/1/21	1.00		EB 92 Right Side West side of Gas Station Entrance	66+97		66+97		
0640		ROCK DITCH CHECK	6/19/21		100.00		Placed in lieu of the sediment Trap	57+00		58+00		
0670		TEMPORARY SEEDING AND MULCHING	6/25/21				Various locations for stage 1 construction.	46+56.7		78+60.53		
0680	8061019	SILT FENCE	6/19/21	7/1/21	1,332.00	LF	North Side of 92	54+00		67+32		

#### Project: J4S3278

Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
1120	3101002	GRAVEL (A)	6/16/21	7/1/21	-0.32	TONS	Rounding for final pay	151+00		151+00		
1340	8051000A	SEEDING - COOL SEASON MIXTURES	6/25/21	7/1/21	0.02	ACRE	Rounding to obtain final pay quantity.	151+00		151+00		
1400	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	6/16/21	7/1/21	-0.04	TONS	Rounding for final pay	69+61		181+00		
1410	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BAS	6/16/21	7/1/21	0.01	TONS	Rounding for final Pay	69+61		181+00		

The information below this line are details for Construction Signs (if applicable). No Data Available



Jul 6, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4P3275	0010	CLEARING AND GRUBBING	Overrun	Overrun	3	Jun 16, 2021	SYSTEM	(\$9,000.00)	
				Overrun - T	otal			(\$9,000.00)	
			Overrun - To	otal				(\$9,000.00)	
	0010 -	- Total						(\$9,000.00)	
	0040	EMBANKMENT IN PLACE	Material		3	Jun 16, 2021	SYSTEM	\$279,620.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0037) due to user schnod1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Jun 16, 2021	SYSTEM	(\$279,620.00)	
					4	Jul 1, 2021	SYSTEM	\$316,020.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user schnod1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$316,020.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Price FUEL		3	Jun 16, 2021	SYSTEM	\$2,446.67	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Jul 1, 2021	SYSTEM	\$318.50	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$2,765.17	
			Price FUEL -	Total				\$2,765.17	
	0040 -	- Total						\$2,765.17	
	0070	LINEAR GRADING CLASS 1	Overrun	Overrun	4	Jul 1, 2021	SYSTEM	(\$1,650.00)	
				Overrun - T	verrun - Total			(\$1,650.00)	
			Overrun - To	tal				(\$1,650.00)	
	0070 -	- Total						(\$1,650.00)	
	0120	TYPE 5 AGGREGATE FOR BASE	Material		4	Jul 1, 2021	SYSTEM	\$48,687.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user schnod1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$48,687.45)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Price FUEL		4	Jul 1, 2021	SYSTEM	\$347.77	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$347.77	
			Price FUEL -	Total				\$347.77	
	01 <u>20</u> -	- Total						\$347.77	
	0160	MISC.	Material		4	Jul 1, 2021	SYSTEM	\$125,903.01	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user schnod1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$125,903.01)	
				- Total				\$0.00	
			Material - To					\$0.00 \$0.00	
	0160 -	- Total	Material - To						
	0160 - 0300				3	Jun 16, 2021	SYSTEM	\$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0038) due to user schnod1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					3		SYSTEM SYSTEM	\$0.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0038) due to user schnod1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
						2021 Jun 16,		\$0.00 \$0.00 \$450.00	Estimate Item Adjustment (0038) due to user schnod1 overridding Payment
					3	2021 Jun 16, 2021 Jul 1,	SYSTEM	\$0.00 \$0.00 \$450.00 (\$450.00)	Estimate Item Adjustment (0038) due to user schnod1 overridding Payment Estimate Exception 13 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0032) due to user schnod1 overridding Payment
					3	2021 Jun 16, 2021 Jul 1, 2021 Jul 1,	SYSTEM SYSTEM	\$0.00 \$0.00 \$450.00 (\$450.00) \$450.00	Estimate Item Adjustment (0038) due to user schnod1 overridding Payment Estimate Exception 13 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0032) due to user schnod1 overridding Payment



Jul 6, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4P3275	0300	ROCK LINING	Material - To	tal				\$0.00	
	0300 -	Total						\$0.00	
	0310	IMPACT ATTENUATOR 55 MPH (SAND	Material		1	May 17, 2021	SYSTEM	\$6,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user schnod1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		BARREL ARRAY)			1	May 17, 2021	SYSTEM	(\$6,000.00)	
					2	Jun 2, 2021	SYSTEM	\$6,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user woodwj1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					2	Jun 2, 2021	SYSTEM	(\$6,000.00)	
					3	Jun 16, 2021	SYSTEM	\$6,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0039) due to user schnod1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					3	Jun 16, 2021	SYSTEM	(\$6,000.00)	
					4	Jul 1, 2021	SYSTEM	\$6,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user schnod1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$6,000.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0310 -	Total						\$0.00	
	0320	REPLACEMENT SAND BARREL	Material		3	Jun 16, 2021	SYSTEM	\$990.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0040) due to user schnod1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					3	Jun 16, 2021	SYSTEM	(\$990.00)	
					4	Jul 1, 2021	SYSTEM	\$990.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user schnod1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$990.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0320 -	Total						\$0.00	
	0350	CONSTRUCTION SIGNS	Material		1	May 17, 2021	SYSTEM	\$2,040.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user schnod1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					1	May 17, 2021	SYSTEM	(\$2,040.00)	
					2	Jun 2, 2021	SYSTEM	\$2,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user woodwj1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					2	Jun 2, 2021	SYSTEM	(\$2,200.00)	
					3	Jun 16, 2021	SYSTEM	\$2,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0041) due to user schnod1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					3	Jun 16, 2021	SYSTEM	(\$2,200.00)	
					4	Jul 1, 2021	SYSTEM	\$2,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0035) due to user schnod1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$2,200.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	0350 -	Total						\$0.00	
	0360	ADVANCED WARNING RAIL SYSTEM	Material		1	May 17, 2021	SYSTEM	\$150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user schnod1 overridding Payment Estimate Exception 4 on the current Payment Estimate.



Jul 6, 2021

Drainat	Line	Description	Adiustraant	Other	Eat	Created	Created	Americant	Demarke
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4P3275	0360	ADVANCED WARNING RAIL	Material		1	May 17, 2021	SYSTEM	(\$150.00)	
		SYSTEM			2	Jun 2, 2021	SYSTEM	\$150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0029) due to user woodwj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					2	Jun 2, 2021	SYSTEM	(\$150.00)	
					3	Jun 16, 2021	SYSTEM	\$150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0042) due to user schnod1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					3	Jun 16, 2021	SYSTEM	(\$150.00)	
					4	Jul 1, 2021	SYSTEM	\$150.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0036) due to user schnod1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$150.00)	
				- Total	1			\$0.00	
			Material - Tot	tal				\$0.00	
	0360 -	Total						\$0.00	
	0370	CHANNELIZER (TRIM LINE)	Material		1	May 17, 2021	SYSTEM	\$1,472.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user schnod1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					1	May 17, 2021	SYSTEM	(\$1,472.00)	
					2	Jun 2, 2021	SYSTEM	\$2,185.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user woodwj1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					2	Jun 2, 2021	SYSTEM	(\$2,185.00)	
					3	Jun 16, 2021	SYSTEM	\$2,185.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0043) due to user schnod1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
					3	Jun 16, 2021	SYSTEM	(\$2,185.00)	
					4	Jul 1, 2021	SYSTEM	\$2,185.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0037) due to user schnod1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$2,185.00)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	0370 -	Total						\$0.00	
	0400	TEMPORARY LONG-TERM RUMBLE STRIPS	Material		1	May 17, 2021	SYSTEM	\$3,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user schnod1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					1	May 17, 2021	SYSTEM	(\$3,600.00)	
					2	Jun 2, 2021	SYSTEM	\$3,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user woodwj1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
					2	Jun 2, 2021	SYSTEM	(\$3,600.00)	
					3	Jun 16, 2021	SYSTEM	\$3,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0044) due to user schnod1 overridding Payment Estimate Exception 24 on the current Payment Estimate.
					3	Jun 16, 2021	SYSTEM	(\$3,600.00)	
					4	Jul 1, 2021	SYSTEM	\$3,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0038) due to user schnod1 overridding Payment Estimate Exception 26 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$3,600.00)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	



Jul 6, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks															
J4P3275	0400 -	Total						\$0.00																
	0410	TEMP. TRAFFIC BARRIER ANCHORED.,	Material		1	May 17, 2021	SYSTEM	\$96,937.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user schnod1 overridding Payment Estimate Exception 9 on the current Payment Estimate.															
		CONT			1	May 17, 2021	SYSTEM	(\$96,937.50)																
					2	Jun 2, 2021	SYSTEM	\$96,937.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0032) due to user woodwj1 overridding Payment Estimate Exception 21 on the current Payment Estimate.															
					2	Jun 2, 2021	SYSTEM	(\$96,937.50)																
					3	Jun 16, 2021	SYSTEM	\$96,937.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0045) due to user schnod1 overridding Payment Estimate Exception 25 on the current Payment Estimate.															
					3	Jun 16, 2021	SYSTEM	(\$96,937.50)																
					4	Jul 1, 2021	SYSTEM	\$96,937.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0039) due to user schnod1 overridding Payment Estimate Exception 27 on the current Payment Estimate.															
					4	Jul 1, 2021	SYSTEM	(\$96,937.50)																
				- Total				\$0.00																
			Material - To	tal				\$0.00																
	0410 -	Total						\$0.00																
	0420	TEMP. TRAFFIC BARRIER HEIGHT TRANSITION	Material		1	May 17, 2021	SYSTEM	\$1,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user schnod1 overridding Payment Estimate Exception 10 on the current Payment Estimate.															
					1	May 17, 2021	SYSTEM	(\$1,700.00)																
																				2	Jun 2, 2021	SYSTEM	\$1,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user woodwj1 overridding Payment Estimate Exception 22 on the current Payment Estimate.
														2	Jun 2, 2021	SYSTEM	(\$1,700.00)							
					3	Jun 16, 2021	SYSTEM	\$1,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0046) due to user schnod1 overridding Payment Estimate Exception 26 on the current Payment Estimate.															
					3	Jun 16, 2021	SYSTEM	(\$1,700.00)																
					4	Jul 1, 2021	SYSTEM	\$1,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0040) due to user schnod1 overridding Payment Estimate Exception 28 on the current Payment Estimate.															
					4	Jul 1, 2021	SYSTEM	(\$1,700.00)																
				- Total				\$0.00																
			Material - To	tal				\$0.00																
	0420 -	Total						\$0.00																
	0480	TEMPORARY REMOVABLE MARKING TAPE 4	Material		1	May 17, 2021	SYSTEM	\$4,314.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user schnod1 overridding Payment Estimate Exception 12 on the current Payment Estimate.															
		IN.,			1	May 17, 2021	SYSTEM	(\$4,314.00)																
					2	Jun 2, 2021	SYSTEM	\$4,314.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user woodwj1 overridding Payment Estimate Exception 24 on the current Payment Estimate.															
				2	Jun 2, 2021	SYSTEM	(\$4,314.00)																	
				3	Jun 16, 2021	SYSTEM	\$4,314.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0047) due to user schnod1 overridding Payment Estimate Exception 29 on the current Payment Estimate.																
					3	Jun 16, 2021	SYSTEM	(\$4,314.00)																
					4	Jul 1, 2021	SYSTEM	\$4,314.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0041) due to user schnod1 overridding Payment Estimate Exception 31 on the current Payment Estimate.															



Jul 6, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks			
J4P3275	0480	TEMPORARY REMOVABLE MARKING TAPE 4	Material		4	Jul 1, 2021	SYSTEM	(\$4,314.00)				
		IN.,		- Total				\$0.00				
			Material - To	tal				\$0.00				
	0480 -	Total						\$0.00				
	0490	TEMPORARY REMOVABLE MARKING TAPE	Material		1	May 17, 2021	SYSTEM	\$7,428.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user schnod1 overridding Payment Estimate Exception 13 on the current Payment Estimate.			
					1	May 17, 2021	SYSTEM	(\$7,428.00)				
					2	Jun 2, 2021	SYSTEM	\$7,428.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0035) due to user woodwj1 overridding Payment Estimate Exception 25 on the current Payment Estimate.			
					2	Jun 2, 2021	SYSTEM	(\$7,428.00)				
					3	Jun 16, 2021	SYSTEM	\$7,428.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0048) due to user schnod1 overridding Payment Estimate Exception 30 on the current Payment Estimate.			
								3	Jun 16, 2021	SYSTEM	(\$7,428.00)	
								4	Jul 1, 2021	SYSTEM	\$7,428.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0042) due to user schnod1 overridding Payment Estimate Exception 32 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$7,428.00)				
				- Total				\$0.00				
			Material - To	tal				\$0.00				
	0490 -	Total						\$0.00				
	0590	0 18 IN. GROUP A FLARED END SECT	0	Material		3	Jun 16, 2021	SYSTEM	\$1,212.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0049) due to user schnod1 overridding Payment Estimate Exception 43 on the current Payment Estimate.		
							3	Jun 16, 2021	SYSTEM	(\$1,212.00)		
					4	Jul 1, 2021	SYSTEM	\$1,212.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0043) due to user schnod1 overridding Payment Estimate Exception 45 on the current Payment Estimate.			
					4	Jul 1, 2021	SYSTEM	(\$1,212.00)				
				- Total				\$0.00				
			Material - To	tal				\$0.00				
	0590 -	Total						\$0.00				
	0640	ROCK DITCH CHECK	Material		3	Jun 16, 2021	SYSTEM	\$1,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0050) due to user schnod1 overridding Payment Estimate Exception 49 on the current Payment Estimate.			
					3	Jun 16, 2021	SYSTEM	(\$1,600.00)				
					4	Jul 1, 2021	SYSTEM	\$5,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0045) due to user schnod1 overridding Payment Estimate Exception 51 on the current Payment Estimate.			
					4	Jul 1, 2021	SYSTEM	(\$5,600.00)				
				- Total				\$0.00				
			Material - To					\$0.00				
			Other Item Adjustment	OVRN		Jul 1, 2021	schnod1	(\$3,080.00)	Payment held for overrun exception.			
				OVRN - Tot	al			(\$3,080.00)				
			Other Item A	.djustment - T	otal			(\$3,080.00)				
			Overrun	Overrun	4	Jul 1, 2021	SYSTEM	\$3,080.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0044) overridding Payment Estimate Exception 62 on the current Payment Estimate. Material Insufficiency Quantity 140.000; Overrun Quantity Balance 77.00.			
					4	Jul 1, 2021	SYSTEM	(\$3,080.00)				



Jul 6, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks					
J4P3275	0640	ROCK DITCH CHECK	Overrun	Overrun - T	otal			\$0.00						
		CHECK	Overrun - To	tal				\$0.00						
	0640 -	Total						(\$3,080.00)						
	0670	TEMPORARY SEEDING AND MULCHING	Material		4	Jul 1, 2021	SYSTEM	\$4,815.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0047) due to user schnod1 overridding Payment Estimate Exception 52 on the current Payment Estimate.					
					4	Jul 1, 2021	SYSTEM	(\$4,815.00)						
				- Total				\$0.00						
			Material - Tot					\$0.00						
			Other Item	OVRN	4	Jul 1, 2021	schnod1	(\$3,691.50)	Payment held for overrun exception.					
			Adjustment	OVRN - Tota	al	2021		(\$3,691.50)						
			Other Item A	djustment - T	otal			(\$3,691.50)						
			Overrun	Overrun	4	Jul 1, 2021	SYSTEM	\$3,691.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0046) overridding Payment Estimate Exception 63 on the current Payment Estimate. Material Insufficiency Quantity 3.000; Overrun Quantity Balance 2.30.					
					4	Jul 1, 2021	SYSTEM	(\$3,691.50)						
				Overrun - T	otal	1		\$0.00						
			Overrun - To	tal				\$0.00						
	0670 -	Total						(\$3,691.50)						
	0680	SILT FENCE	Material		2	Jun 2, 2021	SYSTEM	\$10,641.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0036) due to user woodwj1 overridding Payment Estimate Exception 33 on the current Payment Estimate.					
										2	Jun 2, 2021	SYSTEM	(\$10,641.00)	
					3	Jun 16, 2021	SYSTEM	\$10,641.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0051) due to user schnod1 overridding Payment Estimate Exception 51 on the current Payment Estimate.					
					3	Jun 16, 2021	SYSTEM	(\$10,641.00)						
						4	Jul 1, 2021	SYSTEM	\$14,637.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0048) due to user schnod1 overridding Payment Estimate Exception 56 on the current Payment Estimate.				
									4	Jul 1, 2021	SYSTEM	(\$14,637.00)		
				- Total				\$0.00						
			Material - Tot	tal				\$0.00						
	0680 -	Total						\$0.00						
	0730	MGS GUARDRAIL	Stockpile		2	Jun 2, 2021	SYSTEM	\$16,625.00	Payment Estimate Item Adjustment generated Stockpile Transaction					
			STMI	- Total				\$16,625.00						
			Construction	Stockpile S	TMI - Total			\$16,625.00						
	0730 -	Total						\$16,625.00						
	0740	MGS GUARDRAIL, 8 FT. POSTS, 6	Construction Stockpile		2	Jun 2, 2021	SYSTEM	\$32,582.46	Payment Estimate Item Adjustment generated Stockpile Transaction					
		FT 3 IN	STMI	- Total				\$32,582.46						
			Construction	Stockpile S	TMI - Total			\$32,582.46						
	0740 -	Total						\$32,582.46						
	0750	MGS END ANCHOR	Construction Stockpile		2	Jun 2, 2021	SYSTEM	\$1,158.00	Payment Estimate Item Adjustment generated Stockpile Transaction					
			STMI	- Total				\$1,158.00						
			Construction	Stockpile S	TMI - Total			\$1,158.00						
	0750 -	Total						\$1,158.00						
	0760	CRASHWORTHY	Construction Stockpile		2	Jun 2, 2021	SYSTEM	\$13,905.00	Payment Estimate Item Adjustment generated Stockpile Transaction					
		END TERMINAL (MASH)	SIMI	- Total				\$13,905.00						



Jul 6, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks													
J4P3275	0760	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction	n Stockpile S <sup>-</sup>	TMI - Total			\$13,905.00														
	0760 -	Total						\$13,905.00														
J4P3275 -	- Total							\$49,961.90														
J4S3278	1120	GRAVEL (A)	Material		3	Jun 16, 2021	SYSTEM	\$10,402.69	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user schnod1 overridding Payment Estimate Exception 2 on the current Payment Estimate.													
					3	Jun 16, 2021	SYSTEM	(\$10,402.69)														
					4	Jul 1, 2021	SYSTEM	\$10,374.56	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0049) due to user schnod1 overridding Payment Estimate Exception 3 on the current Payment Estimate.													
					4	Jul 1, 2021	SYSTEM	(\$10,374.56)														
				- Total				\$0.00														
			Material - Tot	tal				\$0.00														
	11 <u>20</u> -	Total						\$0.00														
	1130	BIT. PAVEMENT MIXTURE	Price FUEL		2	Jun 2, 2021	SYSTEM	\$202.21	Reference Item Price Adjustment Index Adjustment Type applied is FUEL													
		PG64-22 (BP-1)		- Total				\$202.21														
			Price FUEL -	Total				\$202.21														
	1130 -	Total						\$202.21														
	1130 -	TACK COAT	DAT Material	Material		2	Jun 2, 2021	SYSTEM	\$232.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.												
													2	Jun 2, 2021	SYSTEM	(\$232.50)						
					3	Jun 16, 2021	SYSTEM	\$232.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user schnod1 overridding Payment Estimate Exception 4 on the current Payment Estimate.													
																			3	Jun 16, 2021	SYSTEM	(\$232.50)
					4	Jul 1, 2021	SYSTEM	\$232.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user schnod1 overridding Payment Estimate Exception 6 on the current Payment Estimate.													
					4	Jul 1, 2021	SYSTEM	(\$232.50)														
				- Total				\$0.00														
			Material - Tot	tal				\$0.00														
	1140 -	Total						\$0.00														
	1150	3 IN. CONCRETE MEDIAN STRIP	Material		2	Jun 2, 2021	SYSTEM	\$3,374.18	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.													
					2	Jun 2, 2021	SYSTEM	(\$3,374.18)														
					3	Jun 16, 2021	SYSTEM	\$3,374.18	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user schnod1 overridding Payment Estimate Exception 8 on the current Payment Estimate.													
					3	Jun 16, 2021	SYSTEM	(\$3,374.18)														
					4	Jul 1, 2021	SYSTEM	\$3,374.18	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user schnod1 overridding Payment Estimate Exception 10 on the current Payment Estimate.													
					4	Jul 1, 2021	SYSTEM	(\$3,374.18)														
				- Total				\$0.00														
			Material - Tot	tal				\$0.00														
	1150 -	Total						\$0.00														
	1160	CONSTRUCTION SIGNS	Material		1	May 17, 2021	SYSTEM	\$256.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user schnod1 overridding Payment Estimate Exception 2 on the current Payment Estimate.													



Jul 6, 2021

ject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks			
3278	1160	CONSTRUCTION SIGNS	Material		1	May 17, 2021	SYSTEM	(\$256.00)				
					2	Jun 2, 2021	SYSTEM	\$880.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user woodwj1 overridding Payment Estimate Exception 12 on the current Payment Estimate.			
					2	Jun 2, 2021	SYSTEM	(\$880.00)				
					3	Jun 16, 2021	SYSTEM	\$880.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user schnod1 overridding Payment Estimate Exception 16 on the current Payment Estimate.			
					3	Jun 16, 2021	SYSTEM	(\$880.00)				
					4	Jul 1, 2021	SYSTEM	\$880.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user schnod1 overridding Payment Estimate Exception 18 on the current Payment Estimate.			
					4	Jul 1, 2021	SYSTEM	(\$880.00)				
				- Total				\$0.00				
			Material - To	tal				\$0.00				
	1160 -	Total						\$0.00				
	1170	FLAG ASSEMBLY	Material		2	Jun 2, 2021	SYSTEM	\$50.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user woodwj1 overridding Payment Estimate Exception 15 on the current Payment Estimate.			
					2	Jun 2, 2021	SYSTEM	(\$50.00)				
					3	Jun 16, 2021	SYSTEM	\$50.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user schnod1 overridding Payment Estimate Exception 19 on the current Payment Estimate.			
						3	Jun 16, 2021	SYSTEM	(\$50.00)			
					4	Jul 1, 2021	SYSTEM	\$50.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user schnod1 overridding Payment Estimate Exception 21 on the current Payment Estimate.			
					4	Jul 1, 2021	SYSTEM	(\$50.00)				
				- Total				\$0.00				
			Material - To	tal				\$0.00				
	1170 -	Total						\$0.00				
	1190	CHANNELIZER (TRIM LINE)	Material		1	May 17, 2021	SYSTEM	\$41.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user schnod1 overridding Payment Estimate Exception 5 on the current Payment Estimate.			
					1	May 17, 2021	SYSTEM	(\$41.00)				
					2	Jun 2, 2021	SYSTEM	\$80.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user woodwj1 overridding Payment Estimate Exception 16 on the current Payment Estimate.			
					2	Jun 2, 2021	SYSTEM	(\$80.00)				
					3	Jun 16, 2021	SYSTEM	\$80.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user schnod1 overridding Payment Estimate Exception 20 on the current Payment Estimate.			
					3	Jun 16, 2021	SYSTEM	(\$80.00)				
					4	4	4	4	Jul 1, 2021	SYSTEM	\$80.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user schnod1 overridding Payment Estimate Exception 22 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$80.00)				
				- Total				\$0.00				
			Material - To	tal				\$0.00				
	1190 -	Total						\$0.00				
	1200	TYPE III MOVEABLE BARRICADE WITH LIGHTS	Material		2	Jun 2, 2021	SYSTEM	\$1,650.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user woodwj1 overridding Payment Estimate Exception 18 on the current Payment Estimate.			



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks									
J4S3278	1200	TYPE III MOVEABLE	Material		2	Jun 2, 2021	SYSTEM	(\$1,650.00)										
		BARRICADE WITH LIGHTS			3	Jun 16, 2021	SYSTEM	\$1,650.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user schnod1 overridding Payment Estimate Exception 22 on the current Payment Estimate.									
					3	Jun 16, 2021	SYSTEM	(\$1,650.00)										
					4	Jul 1, 2021	SYSTEM	\$1,650.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user schnod1 overridding Payment Estimate Exception 24 on the current Payment Estimate.									
					4	Jul 1, 2021	SYSTEM	(\$1,650.00)										
				- Total				\$0.00										
			Material - Tot	tal				\$0.00										
			Overrun	Overrun	2	Jun 2, 2021	woodwj1	(\$375.00)	Manual adjustment for the overrun with material exceptions. This will be removed once they are resolved									
					2	Jun 2, 2021	SYSTEM	\$375.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 35 on the current Payment Estimate. Material Insufficiency Quantity 22.000; Overrun Quantity Balance 5.00.									
					2	Jun 2, 2021	SYSTEM	(\$375.00)										
					3	Jun 16, 2021	SYSTEM	(\$375.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).									
					3	Jun 16, 2021	SYSTEM	\$375.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) overridding Payment Estimate Exception 54 on the current Payment Estimate. Material Insufficiency Quantity 22.000; Overrun Quantity Balance 5.00.									
					4	Jul 1, 2021	SYSTEM	(\$375.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).									
					4	Jul 1, 2021	SYSTEM	\$375.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) overridding Payment Estimate Exception 59 on the current Payment Estimate. Material Insufficiency Quantity 22.000; Overrun Quantity Balance 5.00.									
				Overrun - T	otal			(\$375.00)										
			Overrun - To	tal				(\$375.00)										
	1200 -	Total						(\$375.00)										
	1210	CMS W/O COMMUNICATION INTERFACE, CONT F/	Material		1	May 17, 2021	SYSTEM	\$3,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user schnod1 overridding Payment Estimate Exception 7 on the current Payment Estimate.									
		001117			1	May 17, 2021	SYSTEM	(\$3,000.00)										
					2	Jun 2, 2021	SYSTEM	\$3,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user woodwj1 overridding Payment Estimate Exception 19 on the current Payment Estimate.									
					2	Jun 2, 2021	SYSTEM	(\$3,000.00)										
					3	Jun 16, 2021	SYSTEM	\$3,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user schnod1 overridding Payment Estimate Exception 23 on the current Payment Estimate.									
														3	Jun 16, 2021	SYSTEM	(\$3,000.00)	
					4	Jul 1, 2021	SYSTEM	\$3,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user schnod1 overridding Payment Estimate Exception 25 on the current Payment Estimate.									
					4	Jul 1, 2021	SYSTEM	(\$3,000.00)										
				- Total				\$0.00										
			Material - To	tal				\$0.00										
	1210 -	Total						\$0.00										
	1230	PREF THERMO PVMT MARK, R/R XING	Material		3	Jun 16, 2021	SYSTEM	\$800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user schnod1 overridding Payment Estimate Exception 28 on the current Payment Estimate.									
					3	Jun 16, 2021	SYSTEM	(\$800.00)										



Jul 6, 2021

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
J4S3278	1230	PREF THERMO PVMT MARK, R/R	Material	Туре	4	Jul 1, 2021	SYSTEM	\$800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user schnod1 overridding Payment
		XING			4	Jul 1,	SYSTEM	(\$800.00)	Estimate Exception 30 on the current Payment Estimate.
				<b>T</b>		2021			
			Material - Tot	- Total				\$0.00 \$0.00	
	1230 -	· Total	Waterial - Tot	lai				\$0.00	
	1240	4 IN. WHITE	Material		3	Jun 16,	SYSTEM	\$1,904.70	This adjustment offsets the original system-generated Material Payment
		WATERBORNE PAVEMENT MARKING				2021			Estimate Item Adjustment (0013) due to user schnod1 overridding Payment Estimate Exception 31 on the current Payment Estimate.
					3	Jun 16, 2021	SYSTEM	(\$1,904.70)	
					4	Jul 1, 2021	SYSTEM	\$1,904.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user schnod1 overridding Payment Estimate Exception 33 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$1,904.70)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	1240 -	Total						\$0.00	
	1250	4 IN. YELLOW WATERBORNE PAVEMENT	Material		3	Jun 16, 2021	SYSTEM	\$737.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user schnod1 overridding Payment Estimate Exception 33 on the current Payment Estimate.
		MARKING			3	Jun 16, 2021	SYSTEM	(\$737.70)	
					4	Jul 1, 2021	SYSTEM	\$737.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user schnod1 overridding Payment Estimate Exception 35 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$737.70)	
				- Total				\$0.00	
	1070		Material - Tot	tal				\$0.00	
		Total			0	1 10	OVOTEN	\$0.00	
	1260	8 IN. WHITE WATERBORNE PAVEMENT MARKING	Material		3	Jun 16, 2021	SYSTEM	\$56.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user schnod1 overridding Payment Estimate Exception 35 on the current Payment Estimate.
					3	Jun 16,	SYSTEM	(********	
						2021		(\$56.00)	
					4	2021 Jul 1, 2021	SYSTEM	(\$56.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user schnod1 overridding Payment Estimate Exception 37 on the current Payment Estimate.
					4	Jul 1, 2021 Jul 1,	SYSTEM SYSTEM	. ,	
				- Total		Jul 1, 2021		\$56.00	Estimate Item Adjustment (0016) due to user schnod1 overridding Payment
			Material - Tot			Jul 1, 2021 Jul 1,		\$56.00	Estimate Item Adjustment (0016) due to user schnod1 overridding Payment
	1260 -	Total	Material - Tot			Jul 1, 2021 Jul 1,		\$56.00 (\$56.00) <b>\$0.00</b>	Estimate Item Adjustment (0016) due to user schnod1 overridding Payment
	1260 - 1270	Total 24 IN. WHITE WATERBORNE PAVEMENT				Jul 1, 2021 Jul 1,		\$56.00 (\$56.00) \$0.00 \$0.00	Estimate Item Adjustment (0016) due to user schnod1 overridding Payment
		24 IN. WHITE WATERBORNE			4	Jul 1, 2021 Jul 1, 2021 Jun 16,	SYSTEM	\$56.00 (\$56.00) \$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0016) due to user schnod1 overridding Payment Estimate Exception 37 on the current Payment Estimate.
		24 IN. WHITE WATERBORNE PAVEMENT			4 3	Jul 1, 2021 Jul 1, 2021 Jun 16, 2021	SYSTEM	\$56.00 (\$56.00) \$0.00 \$0.00 \$120.00	Estimate Item Adjustment (0016) due to user schnod1 overridding Payment Estimate Exception 37 on the current Payment Estimate.
		24 IN. WHITE WATERBORNE PAVEMENT			4 3 3	Jul 1, 2021 Jul 1, 2021 Jul 1, 2021 Jul 16, 2021 Jul 1,	SYSTEM SYSTEM SYSTEM	\$56.00 (\$56.00) \$0.00 \$0.00 \$120.00 (\$120.00)	Estimate Item Adjustment (0016) due to user schnod1 overridding Payment Estimate Exception 37 on the current Payment Estimate.
		24 IN. WHITE WATERBORNE PAVEMENT			4 3 3 4	Jul 1, 2021 Jul 1, 2021 Jul 1, 2021 Jun 16, 2021 Jul 1, 2021 Jul 1,	SYSTEM SYSTEM SYSTEM SYSTEM	\$56.00 (\$56.00) \$0.00 \$0.00 \$120.00 \$120.00 \$120.00	Estimate Item Adjustment (0016) due to user schnod1 overridding Payment Estimate Exception 37 on the current Payment Estimate.
		24 IN. WHITE WATERBORNE PAVEMENT		- Total	4 3 3 4	Jul 1, 2021 Jul 1, 2021 Jul 1, 2021 Jun 16, 2021 Jul 1, 2021 Jul 1,	SYSTEM SYSTEM SYSTEM SYSTEM	\$56.00 (\$56.00) \$0.00 \$0.00 \$120.00 (\$120.00) \$120.00 (\$120.00)	Estimate Item Adjustment (0016) due to user schnod1 overridding Payment Estimate Exception 37 on the current Payment Estimate.
	1270	24 IN. WHITE WATERBORNE PAVEMENT	Material	- Total	4 3 3 4	Jul 1, 2021 Jul 1, 2021 Jul 1, 2021 Jun 16, 2021 Jul 1, 2021 Jul 1,	SYSTEM SYSTEM SYSTEM SYSTEM	\$56.00 (\$56.00) \$0.00 \$0.00 \$120.00 (\$120.00) \$120.00 (\$120.00) \$120.00	Estimate Item Adjustment (0016) due to user schnod1 overridding Payment Estimate Exception 37 on the current Payment Estimate.



Jul 6, 2021

Project	Line	Description	Adjustment	Other	Est.	Created Date	Created	Amount	Remarks																														
			Туре	Adjustment Type	Number		Ву																																
J4S3278	1320	12 IN. PIPE CULVERT GROUP C	Material		1	May 17, 2021	SYSTEM	(\$2,700.00)																															
		C			2	Jun 2, 2021	SYSTEM	\$2,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment Estimate Exception 26 on the current Payment Estimate.																														
					2	Jun 2, 2021	SYSTEM	(\$2,700.00)																															
					3	Jun 16, 2021	SYSTEM	\$2,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user schnod1 overridding Payment Estimate Exception 41 on the current Payment Estimate.																														
					3	Jun 16, 2021	SYSTEM	(\$2,700.00)																															
					4	Jul 1, 2021	SYSTEM	\$2,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user schnod1 overridding Payment Estimate Exception 43 on the current Payment Estimate.																														
					4	Jul 1, 2021	SYSTEM	(\$2,700.00)																															
			Material - To	- Total				\$0.00																															
				tal				\$0.00																															
	1320 -	Total						\$0.00																															
	1330	18 IN. PIPE CULVERT GROUP C	Material		1	May 17, 2021	SYSTEM	\$3,250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user schnod1 overridding Payment Estimate Exception 15 on the current Payment Estimate.																														
					1	May 17, 2021	SYSTEM	(\$3,250.00)																															
						2	Jun 2, 2021	SYSTEM	\$3,250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user woodwj1 overridding Payment Estimate Exception 27 on the current Payment Estimate.																													
					2	Jun 2, 2021	SYSTEM	(\$3,250.00)																															
				3	Jun 16, 2021	SYSTEM	\$3,250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user schnod1 overridding Payment Estimate Exception 42 on the current Payment Estimate.																															
						3	Jun 16, 2021	SYSTEM	(\$3,250.00)																														
					4	Jul 1, 2021	SYSTEM	\$3,250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user schnod1 overridding Payment Estimate Exception 44 on the current Payment Estimate.																														
					4	Jul 1, 2021	SYSTEM	(\$3,250.00)																															
				- Total				\$0.00																															
			Material - To	tal				\$0.00																															
	1330 -	Total						\$0.00																															
	1340	SEEDING - COOL SEASON MIXTURES	Material		1	May 17, 2021	SYSTEM	\$1,051.38	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user schnod1 overridding Payment Estimate Exception 16 on the current Payment Estimate.																														
					1	May 17, 2021	SYSTEM	(\$1,051.38)																															
					2 3 3	3				:																									2	Jun 2, 2021	SYSTEM	\$1,051.38	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 28 on the current Payment Estimate.
																											2	Jun 2, 2021	SYSTEM	(\$1,051.38)									
														3	Jun 16, 2021	SYSTEM	(\$1,051.38)																						
														4	Jul 1, 2021	SYSTEM	\$1,188.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user schnod1 overridding Payment Estimate Exception 46 on the current Payment Estimate.																					
					4	Jul 1, 2021	SYSTEM	(\$1,188.00)																															
				- Total	1			\$0.00																															
			Material - Tot	tal				\$0.00																															



Jul 6, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3278	1340 -	Total						\$0.00	
	1350	ROCK DITCH CHECK	Material		1	May 17, 2021	SYSTEM	\$3,360.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user schnod1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
					1	May 17, 2021	SYSTEM	(\$3,360.00)	
					2	Jun 2, 2021	SYSTEM	\$3,360.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user woodwj1 overridding Payment Estimate Exception 32 on the current Payment Estimate.
					2	Jun 2, 2021	SYSTEM	(\$3,360.00)	
					3	Jun 16, 2021	SYSTEM	\$3,360.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user schnod1 overridding Payment Estimate Exception 48 on the current Payment Estimate.
					3	Jun 16, 2021	SYSTEM	(\$3,360.00)	
					4	Jul 1, 2021	SYSTEM	\$3,360.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user schnod1 overridding Payment Estimate Exception 50 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$3,360.00)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	1350 -	Total						\$0.00	
	1370	SILT FENCE	Material		3	Jun 16, 2021	SYSTEM	\$188.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user schnod1 overridding Payment Estimate Exception 50 on the current Payment Estimate.
					3	Jun 16, 2021	SYSTEM	(\$188.00)	
					4	Jul 1, 2021	SYSTEM	\$188.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user schnod1 overridding Payment Estimate Exception 55 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$188.00)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
	1370 -	Total						\$0.00	
	1380	CONCRETE FOOTINGS, EMBEDDED	Material		3	Jun 16, 2021	SYSTEM	\$165.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user schnod1 overridding Payment Estimate Exception 52 on the current Payment Estimate.
					3	Jun 16, 2021	SYSTEM	(\$165.00)	
					4	Jul 1, 2021	SYSTEM	\$165.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0023) due to user schnod1 overridding Payment Estimate Exception 57 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$165.00)	
				- Total				\$0.00	
			Material - Tot	tal				\$0.00	
	1380	Total						\$0.00	
	1400	BIT. PAVEMENT MIXTURE	Overrun	Overrun	3	Jun 16, 2021	SYSTEM	(\$24,504.32)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		PG64-22 (BP-1)			4	Jul 1, 2021	SYSTEM	\$2.45	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',61.26999 - 59.61000, 'is applied (if non-zero).
				Overrun - T	otal			(\$24,501.87)	
			Overrun - To	tal				(\$24,501.87)	
			Price FUEL		2	Jun 2, 2021	SYSTEM	\$8,375.96	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Jun 16, 2021	SYSTEM	\$1,113.38	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					4	Jul 1, 2021	SYSTEM	(\$0.07)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL



Jul 6, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3278	1400	BIT. PAVEMENT	Price FUEL	- Total				\$9,489.27	
		MIXTURE PG64-22 (BP-1)	Price FUEL -	Total				\$9,489.27	
	1400 -	Total						(\$15,012.60)	
	1410	BITUMINOUS PAVEMENT	Price FUEL		2	Jun 2, 2021	SYSTEM	\$12,227.43	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		MIXTURE PG64-22 (BAS			4	Jul 1, 2021	SYSTEM	\$0.02	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$12,227.45	
			Price FUEL -	- Total				\$12,227.45	
	1410 -	Total						\$12,227.45	
	1420	BITUMINOUS PAVEMENT MIXTURE	Material		2	Jun 2, 2021	SYSTEM	\$139,327.38	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		PG64-22 (SUR			2	Jun 2, 2021	SYSTEM	(\$139,327.38)	
					3	Jun 16, 2021	SYSTEM	\$139,327.38	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user schnod1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				3	Jun 16, 2021	SYSTEM	(\$139,327.38)		
					4	Jul 1, 2021	SYSTEM	\$139,327.38	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user schnod1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$139,327.38)	
				- Total				\$0.00	
			Material - To	tal				\$0.00	
			Overrun	Overrun	2	Jun 2, 2021	woodwj1	(\$5,261.48)	Manual adjustment for the overrun with material exceptions. This will be removed once they are resolved
					2	Jun 2, 2021	SYSTEM	(\$5,261.48)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					2	Jun 2, 2021	SYSTEM	\$5,261.48	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) overridding Payment Estimate Exception 34 on the current Payment Estimate. Material Insufficiency Quantity 2367.500; Overrun Quantity Balance 87.00.
					3	Jun 16, 2021	SYSTEM	(\$5,261.48)	Averaged Price Adjustment from this item on all previous payment estimates of '1.62680' is applied (if non-zero).
					3	Jun 16, 2021	SYSTEM	\$5,261.48	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0023) overridding Payment Estimate Exception 55 on the current Payment Estimate. Material Insufficiency Quantity 2367.500; Overrun Quantity Balance 87.00.
					4	Jul 1, 2021	SYSTEM	(\$5,261.48)	Averaged Price Adjustment from this item on all previous payment estimates of '1.62680' is applied (if non-zero).
					4	Jul 1, 2021	SYSTEM	\$5,261.48	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) overridding Payment Estimate Exception 60 on the current Payment Estimate. Material Insufficiency Quantity 2367.500; Overrun Quantity Balance 87.00.
				Overrun - T	otal			(\$5,261.48)	
			Overrun - To	otal				(\$5,261.48)	
			Price FUEL		2	Jun 2, 2021	SYSTEM	\$3,851.45	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$3,851.45	
			Price FUEL -	Total				\$3,851.45	
	1420 -							(\$1,410.03)	
	1430	TACK COAT	Material		2	Jun 2, 2021	SYSTEM	\$21,587.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user woodwj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					2	Jun 2, 2021	SYSTEM	(\$21,587.50)	
					3	Jun 16, 2021	SYSTEM	\$22,375.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user schnod1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					3	Jun 16,	SYSTEM	(\$22,375.00)	



Jul 6, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J4S3278	1430	TACK COAT	Material			2021			
					4	Jul 1, 2021	SYSTEM	\$22,375.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0027) due to user schnod1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					4	Jul 1, 2021	SYSTEM	(\$22,375.00)	
				- Total				\$0.00	
			Material - To	al				\$0.00	
	1430 -	Total						\$0.00	
	1460	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN			2	Jun 2, 2021	SYSTEM	\$18,303.54	Payment Estimate Item Adjustment generated Stockpile Transaction
		F13 IN	311011	- Total				\$18,303.54	
			Construction	Stockpile S	MI - Total			\$18,303.54	
	1460 -	Total						\$18,303.54	
	1470	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile STMI		2	Jun 2, 2021	SYSTEM	\$3,090.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)	511111	- Total				\$3,090.00	
			Construction	Stockpile S	MI - Total			\$3,090.00	
	1470 -	Total						\$3,090.00	
J4S3278 -	Total							\$17,025.57	
Overall -	Total							\$66,987.47	